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1.1

m C API

“mr32r.inc”

“« EQU”

3.3

E_OK

”itron.h”

”#define”




1.2

1.2.
cre_tsk
acre_tsk (ID )
m C API
ER ercd = cre_tsk( ID tskid, T _CTSK *pk_ctsk);
ER_ID tskid = acre_tsk( T_CTSK *pk_ctsk);
|
ID tskid ID
T CTSK *pk_ctsk
pk_ctsk
typedef struct t_ctsk {
ATR tskatr 0 4
VP_INT exinf +4 4
FP task +8 4
PRI itskpri +12 1
SIZE stksz +16 4 (
VP stk +20 4
} T_CTSK;
|
® cre _tsk
ER ercd (E_OK)
® acre_tsk
ER_ID tskid>0 1D
tskid<0
|
E_NOID ID (acre_tsk )
E_NOMEM
E OBJ (cre_tsk )
|
cre_tsk tskid
(NON-EXISTENT)
(DORMANT) ID 1
acre_tsk ID
ID acre_tsk ID
E_NOID
pk_ctsk




1.2

¢ exinf( )

exinf MR32R
ext_tsk,ter_tsk

¢ tskatr( )
tskatr [[__MR_INT|]|__MR_EXT] | [TA_HLNG || TA_HASM] | [TA_ASM]]
TA_HLNG,TA_ASM ¢

—_MR_INT RAM

—_MR_EXT RAM

TA_HLNG

TA_ASM

TA_ACT act_tsk

¢ task( )

@ itskpri( )
€ stksz( )

& stk( )
NULL
tskatr  (__MR_INT, _MR_EXT)
NULL tskatr __ _MR_INT __MR_EXT

(NON-EXISTENT)
E_OBJ




1.2

#include <itron.
#include <kernel
#include “kernel
#define ID_task2
#define ID task3
void task2 (void)

(
void task3 (void)
void taskl (void)

T CTSK ctsk2
T _CTSK ctsk3

h>
.h>
_id.h”
2
3
i /* */
i /* */

7

{ MR_INT, 0, task3,2,200,NULL};

ER_ID tskid;

ER ercd;
ctsk2.tskatr

ctsk2.task =
ctsk2.itskpr

ctsk2.stksz
ctsk2.stk =

tskid acre

= MR _EXT; /* RAM
task2; /*
i=2; /*
= 100; /*
NULL;

tsk( &ctsk2 );

ercd = cre tsk( ID task3, &ctsk3);

void task2 (void)

ext;tsk();

void task3 (void)

ext_tsk();

*/
*/
*/

*/




1.2

del_tsk
m C API
ER ercd = del_tsk( ID tskid );
|
ID tskid ID
|
ER ercd (E_OK)
m
E_NOEXS (tskid )
E_OBJ (tskid
)
|
tskid
(DORMANT) (NON-EXISTENT)

E_OBJ
E_NOEXS

cre_tsk,acre_tsk




1.2

C

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
#define ID_task2 2
#define ID task3 3

void taskl ()
ER ercd;

ercd = del_tsk( ID task2 );
void task2()

ext tsk();




1.2

act_tsk
iact_tsk ( )
m C API
ER ercd = act_tsk( ID tskid );
ER ercd = iact_tsk( ID tskid );
|
ID tskid ID
|
ER ercd (E_OK)
m
E_NOEXS (tskid )
E_QOVR ( 32767
)
|
tskid
1
2
3
4
5
tskid=TSK_SELF(0)
tskid
TSK_SELF
32767 E_QOVR
E_NOEXS
tskid TSK_SELF
act_tsk

iact_tsk




1.2

C
#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
#define ID task2 2
#define ID task3 3
void taskl ()

ER ercd;

ercd = act tsk( ID task2 );
void task2 ()

ext;tsk();




1.2

can_act
ican_act

m C API
ER_UINT actcnt
ER_UINT actcnt

can_act( ID tskid );
ican_act( ID tskid );

[ |
ID tskid ID
[ |
ER_UINT actcnt >0
actcnt <0
|
E_NOEXS (tskid
[ |

tskid
tskid=TSK_SELF 0
tskid TSK_SELF

can_act
ican_act

-10-



1.2

C
#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
#define ID task2 2
#define ID task3 3
void taskl ()

ER _UINT actcnt;

actcnt = can act( ID task2 );
void task2 ()

ext;tsk();

-11-



1.2

sta_tsk ( )
ista_tsk (
m C API
ER ercd = sta_tsk( ID tskid,VP_INT stcd );
ER ercd = ista_tsk ( ID tskid,VP_INT stcd );
|
ID tskid ID

VP_INT stcd

[
ER ercd (E_OK)
|
E_NOEXS (tskid
E_0OBJ (tskid
)
[
tskid
(READY) (RUN)
(DORMANT)
E_0OBJ
(DORMANT)
E_NOEXS
stcd

ter_tsk ext tsk

a s wNPRk

PC PSW R4,R11,R12,R13,R14
R11 R12 R13
R14 ext_tsk

sta_tsk
ista tsk

(DORMANT)

R4

-12-



1.2

||
C
#include <itron.h>
#include <kernel.h>

#include “kernel id.h”
void task()

ER ercd;

ercd = sta_tsk( ID task2, stcd );

void task2 (int msg)

if (msg == 0)

-13-



1.2

ext_tsk

m C API
ext_tsk();
|

(RUN)

act_tsk,1act_tsk
(READY)

ext_tsk(Q);

(DORMANT)

CPU

(DORMANT)

CPU

-14-



1.2

||
C
#include <itron.h>
#include <kernel.h>

#include “kernel id.h”
void task(void)

ext;tsk();

-15-



1.2

exd_tsk
m C API
exd_tsk(Q);

|

|

|

|

(RUN)
(NON_EXISTENT)
CPU CPU

CPU

cre_tsk

|
C

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void taskl ()

cre tsk( ID task2, &ctsk2 );

sta_tsk( ID task2, 0 );
void task2()

exd_tsk() ;

-16-



1.2

ter_tsk
m C API
ER ercd = ter_tsk( ID tskid );
|
ID tskid ID
|
ER ercd (E_OK)
|
E_NOEXS (tskid )
E_OBJ (tskid
E_ILUSE ID TSK_SELF
|
tskid
act_tsk, iact_tsk
(DORMANT) (READY)
ID TSK_SELF(=0)
E_ILUSE ext_tsk
tskid TA_TPRI
(get_mpl,tget_mpl,snd_mb¥f,tsnd_mbf )}
tskid (DORMANT)
E_OBJ
tskid (NON-EXISTENT)
E_NOEXS
|

c

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task ()

ter tsk( ID main );

ext_fsk();

-17-
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chg_pri
ichg_pri ( )
m C API
ER ercd = chg_pri( ID tskid, PRI tskpri );
ER ercd = ichg_pri( ID tskid, PRI tskpri );
-
ID tskid ID
PRI tskpri
-
ER ercd (E_OK)
|
E_NOEXS (tskid )
E_OBJ (tskid
|
tskid tskpri
)
1
1
1 255
system{
stack_size = 0x100;
priority = 13;
}:
1 13
TSK_SELF
tskid TSK_SELF TPRI_INI
tskid TA_TPRI
(snd_mbf D)
tskid (DORMANT)
E_OBJ tskid (NON-EXISTENT)
E_NOEXS
chg_pri
ichg_pri

-18-



1.2

|
C
#include <itron.h>
#include <kernel.h>

#include “kernel id.h”
void task()

chg_ﬁri( ID task2, 2 );

-19-
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get_pri
iget_pri ( )
m C API
ER ercd = get_pri( ID tskid, PRI *p_tskpri );
ER ercd = iget _pri( ID tskid, PRI *p_tskpri );
|
ID tskid ID
PRI *p_tskpri
|
ER ercd (E_OK)
|
E_NOEXS (tskid )
E_OBJ (tskid )
|
tskid p_tskpri TSK_SELF
tskid
TSK_SELF
tskid (DORMANT)
E_OBJ tskid (NON-EXISTENT)
E_NOEXS
get_pri
iget_pri
|
c

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task()

get_ﬁri( ID task2, &p_tskpri );

-20-



1.2

ref tsk
iref_tsk ( )
m C API
ER ercd = ref _tsk( ID tskid, T _RTSK *pk_rtsk );
ER ercd = iref_tsk( ID tskid, T_RTSK *pk_rtsk );
|
ID tskid ID

T _RTSK *pk_rtsk

-
ER ercd (E_OK)
pk_rtsk
typedef struct t_rtsk{
STAT  tskstat +0 4
PRI tskpri +4 2
PRI tskbpri +6 2
STAT  tskwait +8 4
1D wobjid +12 2 ID
TMO lefttmo +16 4
UINT actcnt +20 4
UINT  wupcnt +24 4
UINT suscnt +28 4
} T_RTSK;
|
E_NOEXS (tskid
-
tskid pk_rtsk
tskid TSK_SELF
tskid TSK_SELF
tskid (NON-EXISTENT)
E_NOEXS
@ tskstat( )
tskstat
® TTS_RUN(Ox0001) (RUN)
® TTS_RDY(0x0002) (READY)
® TTS_WAI(O0x0004) (WAIT)
® TTS_SUS(0x0008) (SUSPEND)
® TTS_WAS(0x000C) (WAIT-SUSPEND)
® TTS DMT(O0x0010) (DORMANT)
@ tskpri( )
tskpri
tskpri
@ tskbpri( )
tskpri M3T-MR32R
tskpri  tskbpri
tskpri

-21-
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@ tskwait( )
tskwait
® TTW_SLP (0x0001)

e TTW DLY (0x0002)
® TTW_SEM (0x0004)
® TTW_FLG (0x0008)
® TTW_SDTQ(0x0010)
e TTW_RDTQ(0x0020)
® TTW_MBX (0x0040)
® TTW_SMBF(0x0100)
® TTW_RMBF(0x0200)
® TTW_CAL (0x0400)
® TTW_ACP (0x0800)
e TTW_RDV (0x1000)
® TTW_MPF (0x2000)
e TTW MPL (0x4000)

@ wobjid( ID)

ID
¢ lefttmo( )}
(TTS_WAI,
lefttmo

¢ actent( )

@ wupcnt( )

¢ suscnt(

iref_tsk

(TTS_WAI

slp_tsk tslp_tsk
dly tsk

wail_sem twail_sem
wai_Fflg twai_¥Flg
snd_dtq tsnd_dtq
rcv_dtq,trcv_dtq
rcv_mbx trcv_mbx
snd_mbf tsnd_mbf
rcv_mbFf trcv_mbf
cal_por tcal por
acp_por tacp_por

get_mpf,tget_mpf
get _mpl,tget_mpl

TTS_WAS)

(TTS_WAI TTS_WAS)
wobjid
TTS_WAS)
TMO_FEVR
wupcnt
suscnt
ref_tsk

-22-



1.2

|
c

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task()

T RTSK rtsk;

ref tsk( ID main, &rtsk );

-23-
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ref tst ( )
iref_tst ( :
m C API
ER ercd = ref _tst( ID tskid, T _RTST *pk_rtst );
ER ercd = iref_tst( ID tskid, T_RTST *pk_rtst );
-
ID tskid ID
T_RTST *pk_rtst
-
ER ercd (E_OK)
pk_rtsk
typedef struct t_rtst{
STAT tskstat +0 4
STAT  tskwait +4 4
} T_RTST;
-
E_NOEXS (tskid )
|
tskid pk_rtst
tskid TSK_SELF
tskid TSK_SELF
tskid (NON-EXISTENT)
E_NOEXS
@ tskstat( )
tskstat
® TTS_RUN(Ox0001) (RUN)
® TTS_RDY(0x0002) (READY)
® TTS_WAI(0x0004) (WAIT)
® TTS_SUS(0x0008) (SUSPEND)
® TTS_WAS(O0x000C) (WAIT-SUSPEND)
® TTS_DMT(0x0010) (DORMANT)

-24-
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& tskwait( )
(TTS_WAI TTS_WAS)
tskwait
® TTW_SLP (0x0001) slp_tsk tslp_tsk

® TTW DLY (0x0002) dly_tsk

® TTW_SEM (0x0004) wail_sem twail_sem
® TTW _FLG (0x0008) wai_Fflg twai_Flg
® TTW_SDTQ(0x0010) snd_dtq tsnd_dtq
® TTW_RDTQ(0Ox0020) rcv_dtqg, trcv_dtqg
® TTW_MBX (0x0040) rcv_mbx trcv_mbx
® TTW_SMBF(0x0100) snd_mbf tsnd_mbf
® TTW_RMBF(0x0200) rcv_mbf trcv_mbf
® TTW_CAL (0x0400) cal_por tcal_por
® TTW_ACP (0x0800) acp_por tacp_por
® TTW_RDV (0x1000)

® TTW _MPF (0x2000) get_mpf,tget_mpf
® TTW_MPL (0x4000) get_mpl,tget_mpl

ref_tst
iref_tst

C

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task()

T RTST rtst;

ref tst( ID main, &rtst );
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1.3.
slp_tsk
tslp_tsk ( )
m C API
ER ercd = slp_tsk(Q);
ER ercd = tslp_tsk( TMO tmout );
|
® slp tsk

® tslp tsk

TMO tmout
-
ER ercd (E_0K)
-
E_TMOUT
E_RLWAI
-
(RUN)
4
E_OK
L 4
E_RLWAI
4 tmout (tslp_tsk )
E_TMOUT
(WAIT) sus_tsk
(WAIT-SUSPEND)
rsm_tsk
tslp_tsk tmout
tmout tslp_tsk(10); 10ms
(RUN) (WAIT) tmout=TMO_FEVR(-1)
slp_tsk
tmout=TMO_POL (=0) 1
0] E_TMOUT
tmout OX7FFFFFFF/tick_deno(

tick _deno D)
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1.3

|
c

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task()

if ( slp_tsk() != E_OK )
error (“Forced wakeup¥n”) ;

if( tslp tsk( 10 ) == E_TMOUT )
error (“time out¥n”) ;
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wup_tsk
iwup_tsk ( )
m C API
ER ercd = wup_tsk( ID tskid );
ER ercd = iwup_tsk( ID tskid );
-
ID tskid ID
-
ER ercd (E_0K)
-
E_NOEXS (tskid )
E_OBJ (tskid
E_QOVR
-
tskid slp_tsk tslp_tsk (WAIT)
(READY) (RUN)
tskid (WAIT-SUSPEND)
(SUSPEND)
(DORMANT)
E_OBJ E_NOEXS

tskid TSK_SELF
tskid TSK_SELF
slp_tsk tslp_tsk (WAIT)
(WAIT-SUSPEND)
1

32767 32767
32767
E_QOVR

wup_tsk
iwup_tsk
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|
c

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task()

if ( wup_tsk( ID main ) != E OK )

printf (“Can’t wakeup main()¥n”);
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can_wup
ican_wup ( )

m C API
ER_UINT wupcnt
ER_UINT wupcnt

can_wup( ID tskid );
ican_wup( ID tskid );

m
ID tskid ID
m
ER_UINT wupcnt >0
wupcnt <0
|
E_NOEXS (tskid )
E_OBJ (tskid
|
tskid oC )
wup_tsk iwup_tsk
oC )
(wupcnt) (DORMANT)
E_OBJ
(NON-EXISTENT) E_NOEXS tskid TSK_SELF

can_wup
ican_wup
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|
c

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task()

ER_UINT wupcnt;

wupcnt = can_wup (ID_main) ;
if( wup_cnt > 0 )
printf (“wupcnt = $d¥n”,wupcnt) ;
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rel_wai
irel_wai ( )
m C API
ER ercd = rel_wai( ID tskid );
ER ercd = irel_wai( ID tskid );
-
ID tskid ID
-
ER ercd (E_0K)
-
E_NOEXS (tskid )
E_OBJ (tskid
)
-
tskid ( (SUSPEND) )
(READY) (RUN)
E_RLWAI
(WAIT-SUSPEND)
(SUSPEND) 3
tskid TA_TPRI
(get_mpl,tget _mpl,snd_mbf,tsnd_mbf D)
E _0OBJ
(NON-EXISTENT)
E_NOEXS
rel_wai
irel_wai

3

rsm_tsk,irsm_tsk,frsm_tsk,ifrsm_tsk
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|
c

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task()

if( rel wai( ID main ) != E OK )
error (“Can’t rel wai main()¥n”);
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sus_tsk
isus_tsk (
m C API
ER ercd = sus_tsk( ID tskid );
ER ercd = isus_tsk( ID tskid );
-
ID tskid ID
-
ER ercd (E_0K)
-
E_NOEXS (tskid
E_OBJ (tskid )
E_QOVR
-
tskid (SUSPEND) tskid
tskid

TSK_SELF(=0)
rsm_tsk, irsm_tsk, frsm_tsk, ifrsm_tsk

tskid (DORMANT)
E_0OBJ (NON-EXISTENT)
E_NOEXS
32767 32767
32767
E_QOVR
sus_tsk
isus_tsk
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|
c

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task()

if( sus_tsk( ID main ) != E OK )
printf (“Can’t suspend task main()¥n”);
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rsm_tsk
irsm_tsk (
frsm_tsk
ifrsm_tsk (
m C API
ER ercd = rsm_tsk( ID tskid );
ER ercd = irsm_tsk( ID tskid );
ER ercd = frsm_tsk( ID tskid );
ER ercd = ifrsm_tsk( ID tskid );
|
ID tskid ID
-
ER ercd (E_0K)
-
E_NOEXS (tskid
E_OBJ (tskid
)
|
tskid sus_tsk
frsm_tsk, ifrsm_tsk
0
(SUSPEND) (  (DORMANT)

E_OBJ

E_NOEXS
rsm_tsk frsm_tsk
irsm_tsk ifrsm_tsk
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|
c

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void taskl ()

if( rsm _tsk( ID main ) != E OK )
printf (“*Can’t resume main()¥n”);

if (fErsm _tsk( ID task2 ) != E OK )
printf (“Can’'t forced resume task2()¥n”);
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dly tsk
m C API
ER ercd = dly_tsk( TMO tmout );
|
TMO tmout
|
ER ercd (E_OK)
|
E_RLWAI
|
tmout (RUN)
tmout
tmout O
€ tmout
E OK
€ tmout rel_wai irel_wai
E_RLWAI

wup_tsk Twup_tsk

tmout dly_ tsk(50); 50ms
(RUN)
tmout OX7FFFFFFF/tick _deno(

tick_deno )
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||
C
#include <itron.h>
#include <kernel.h>

#include “kernel id.h”
void task()

if( dly _tsk( 10 ) != E OK );

printf (“Forced wakeup¥n”) ;
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1.4.
def_tex
m C API
ER ercd = def _tex( ID tskid, T _DTEX *pk_dtex );
-
ID tskid ID
T _DTEX *pk_dtex
pk_dtex
typedef struct t_dtex {
ATR texatr 0 4
FP texrtn +4 4
} T _DTEX;
-
ER ercd (E_O0K)
-
E_NOEXS (tskid )
-
tskid pk_dtex
tskid=TSK_SELF
@ texatr( )
texatr [TA_HLNG || TA_HASM]
TA_HLNG,TA_ASM C
TA_HLNG
TA_ASM
@ texrtn( )
texrtn
def_tex pk_dtex NULL O tskid
0
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||
C
#include <itron.h>
#include <kernel.h>
#include “kernel id.h”

void task()

T DTEX pk dtex;
ER ercd;

pk_dtex.texrtn = (FP)texrtnl;
ercd = def tex( ID main, &pk dtex );
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ras_tex
iras_tex (
m C API
ER ercd = ras_tex( ID tskid, TEXPTN rasptn);
ER ercd = iras_tex( ID tskid, TEXPTN rasptn );
-
ID tskid ID

TEXPTN rasptn

ER ercd (E_OK)

E_OBJ (tskid

E_NOEXS (tskid

tskid rasptn
rasptn
tskid=TSK_SELF
tskid TSK_SELF

tskid (DORMANT)
E_OBJ (NON-EXISTENT)
rasptn O E_PAR
ras_tex
iras_tex

E_NOEXS

OR
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||
C
#include <itron.h>
#include <kernel.h>
#include “kernel id.h”

void task()

TEXPTN texptn;
ER ercd;

texptn= 0x00000001;
ercd = ras_tex( ID task2, texptn );
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dis_tex
m C API
ER ercd = dis_tex();

-
-

ER ercd (E_0K)
-

E_OBJ
m

E_OBJ
m
c

#include <itron.h>
#include <kernel.h>
#include “kernel_id.h”

void task()

dis tex() ;‘
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ena_tex
m C API
ER ercd = ena_tex();

-
-

ER ercd (E_0K)
-

E_OBJ

(
|
E_OBJ
-
C

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”

void task()

ena tex();
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sns_tex
m C API
ER ercd = sns_tex();
-
-
BOOL state
|
-
TRUE
FALSE
TRUE
TRUE
CPU
|
c

#include <itron.h>
#include <kernel.h>
#include “kernel_id.h”

void task()

if ( sns_tex() == TRUE )
printf (“ Task Exception disable¥n”) ;
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ref tex
iref_tex (
m C API
ER ercd = ref _tex( ID tskid, T _RTEX *pk_rtex );
ER ercd = iref_tex( ID tskid, T_RTEX *pk_rtex );
-
ID tskid ID

T _RTEX *pk_rtex

-
ER ercd (E_OK)
T _RTEX *pk_rtex
pk_rtex
typedef struct t_rtex{
STAT texstat +0 4
TEXPTN pndptn +4 4
} T_RTEX;
-
E_OBJ (
E_NOEXS (tskid
-
tskid pk_rtex
texstat

® TTEX_ENA 0x00000000
® TTEX_DIS 0x00000001
pndptn
pndptn 0 tskid=TSK_SELF

ref_tex
iref_tex
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|
C

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task()

T _RTEX pk rtex;
ER ercd;

ercd = ref tex( ID main, &pk rtex );
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1.5. ( )

cre_sem
acre_sem (ID )

m C API
ER ercd = cre_sem( ID semid, T_CSEM *pk_csem );
ER_ID semid = acre_sem( T_CSEM *pk_csem );

-
ID semid ID cre_sem
T _CSEM *pk_csem
pk_csem
typedef struct t_csem {
ATR sematr 0 4
UINT isemcnt +4 4
UINT maxsem +8 4
} T _CSEM;
|
® cre_sem
ER ercd (E_OK)
® acre_sem
ER_ID semid>0 ID
semid<0
-
E_NOID ID (acre_sem )
E_OBJ
(semid (cre_sem )»
-
cre_sem semid pk_csem
acre_sem ID ID pk_csem
ID semid
pk_csem
¢ sematr( )
sematr (TA_TFIFO] |TA_TPRI)
TA _TFIFO FIFO
TA_TPRI
€ isemcnt
0] OX7FFFH
€ maxsem
0 7FFFH
cre_senm
E_OBJ acre_sem
E_NOID
cre_sem 1D 1
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|
c

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
#define ID_seml 1
void taskl ()

T CSEM csem;
ER ercd;

csem.isemcnt = Oxff;
csem.maxsem = Ox7fffff;

/*
/*

ercd = cre sem( ID seml, &csem ) ;

*/
*/
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del _sem
m C API
ER ercd = del_sem( ID semid );
|
ID semid ID
|
ER ercd (E_OK)
m
E_NOEXS (semid )
|
semid ID
(READY)
E_DLT
E_NOEXS
cre_sem,acre_sem
|
c

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
#define ID sem2 2
void taskl ()

del sem( ID sem2 ) ;
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sig_sem
iIsig_sem ( )
m C API
ER ercd = sig_sem( ID semid );
ER ercd = isig_sem( ID semid );
-
ID semid ID
-
ER ercd (E_0K)
-
E_NOEXS (Semid )
E_QOVR
|
semid 1
(READY)
1 cre_senm
(maxsem) (sig_sem isig_sem
)
E_QOVR
E_NOEXS
sig_sem
isig_sem
-
C

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task ()

if( sig sem( ID sem ) == E QOVR )
error (“Overflow¥n”) ;

-52-



15 ( )

wai_sem
pol_sem ( )
ipol_sem ( )
twai_sem ( )
m C API
ER ercd = wai_sem( ID semid );
ER ercd = pol_sem( ID semid );
ER ercd = ipol_sem( ID semid );
ER ercd = twai_sem( ID semid, TMO tmout );
|
ID semid ID
TMO tmout (twai_sem )
|
ER ercd (E_OK)
|
E_NOEXS (semid )
E_DLT
E_RLWAI
E_TMOUT
|
semid
1 1
0 wail_sem,twai_sem
semid
TA _TFIFO FIFO TA_TPRI
pol_sem, ipol_sem
E_TMOUT
twai_sem tmout ms tmout
Ox7FFFFFFF/tick_deno(
tick_deno )
tmout TMO_POL=0 0
pol_sem tmout=TMO_FEVR(-1)
wai_sem
wail_sem,twai_sem
4 tmout sig_sem isig_sem
E_OK
2 tmout
E_TMOUT
4 rel_wai irel_wai
E_RLWAI
L 4 del_sem
E DLT
E_NOEXS
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wail_sem,twai_sem,pol_sem
ipol_sem

|
C

#include <itron.h>
#include <kernel.h>
#include “kernel_id.h”
void task()

if( wai_sem( ID sem ) != E _OK )
printf (“Forced wakeup¥n”) ;

if( pol_sem( ID sem ) != E OK )
printf (“Forced wakeup¥n”) ;

if( twai_sem( ID sem, 10 ) != E OK )
printf (“Forced wakeup”n”) ;
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ref sem
iref_sem ( )
m C API
ER ercd = ref_sem( ID semid, T_RSEM *pk_rsem );
ER ercd = iref_sem( ID semid, T_RSEM *pk_rsem );
-
ID semid ID
T _RSEM *pk_rsem
-
ER ercd (E_OK)
T_RSEM *pk_rsem
pk_rsem
typedef struct t_rsem{
1D wtskid +0 2 ID
UINT semcnt +4 4
} T_RSEM;
|
E_NOEXS (semid )
-
semid
¢ wtskid
wtskid 1D
TSK_NONE
¢ semcnt
semcnt
E_NOEXS
ref_sem
iref_sem
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|
c

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task()

T_RSEM rsem;

ref sem( ID sem ,&rsem );
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1.6.

cre_flg
acre_flg

(ID )

m C API

ER ercd = cre_flg( ID flgid, T_CFLG *pk_cflg );
ER_ID flgid = acre_flg( T_CFLG *pk _cflg );

ID flgid ID (cre_flg )
T _CFLG *pk_cflg

pk_cflg

typedef struct t_cflg {
ATR flgatr 0 4

FLGPTN iflgptn +4 4

} T_CFLG;
|

® cre flg
ER

® acre_ flg
ER_ID

E_NOID
E_OBJ

cre_flg
acre_fTIg
pk_cflg

¢ flgatr(
flgatr

TA_WSGL

ercd (E_OK)

flgid>0 ID
flgid<0

ID (acre_flg )]
(flgid (cre_flg ))

flgid pk_cflg
ID ID
ID flgid
pk_cflg
)
((TA_TFIFO] | TA_TPRI) | (TA_ WSGL || TA_WMUL) | [TA CLR])

TA_TFIFO  TA_TPRI

TA_CLR

TA_TFIFO

FIFO

TA_TPRI

TA_WSGL

TA_WMUL

TA_CLR

¢ iflgptn

cre_flg
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E_OBJ
E_NOID
cre_flg

|
C

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
#define ID flgl 1
#define ID flg2 2
void taskl ()

T CFLG cflgl;

T CFLG cflg2={TA TFIFO,Oxfff};
ER ercd;

ER_ID flgid;

cflgl.iflgptn = Oxff; /*
ercd = cre flg( ID flgl, &cflgl );

flgid = acré_flg( &cflg2 ) ;

acre_TIg

1D

*/
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del_flg
m C API
ER ercd = del_flg( ID flgid );
|
ID flgid ID
|
ER ercd (E_OK)
m
E_NOEXS (flgid )
|
flgid ID
(READY)
E_DLT
E_NOEXS
cre_flg,acre_flg
|
c

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
#define ID flg2 2
void taskl ()

del flg( ID flg2 );

ext _tsk();
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set_flg
iset_flg ( )
m C API
ER ercd = set_flg( ID flgid, FLGPTN setptn );
ER ercd = iset_flg( ID flgid, FLGPTN setptn );
-
ID flgid ID
FLGPTN setptn
-
ER ercd (E_OK)
|
E_NOEXS (flgid
-
flgid 32 setptn
flgid setptn (OR)
wai_flg twai_Flg
(READY) (RUN)
TA_WMUL
set _flg,iset_flg
TA CLR
setptn 0
E_NOEXS
set_flg
iset_flg
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|
c

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task (void)

set_flg( ID_flg, (UINT)0x££00 ) ;

ext tsk();
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clr_flg
iclr_flg ( )
m C API

ER ercd = clr_flg( ID flgid, FLGPTN clrptn );

ER ercd = iclr_flg( ID flgid, FLGPTN clrptn );
|

ID flgid ID
FLGPTN clrptn
|
ER ercd (E_OK)
|
E_NOEXS (flgid )

|

flgid 32 clrptn O

flgid clrptn
(AND) clrptn 1
E_NOEXS
clr_flg

iclr_flg

|
c

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task (void)

clr_flg( ID_flg, (UINT)OXEE00 );

}
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wai_flg

pol_flg ( )

ipol_flg ( )

twai_flg ( )

m C API
ER ercd = wai_flg( ID flgid, FLGPTN waiptn, MODE wfmode, FLGPTN
*p_flgptn );
ER ercd = pol _flg( ID flgid, FLGPTN waiptn, MODE wfmode, FLGPTN
*p_flgptn );
ER ercd = ipol_flg( ID flgid, FLGPTN waiptn, MODE wfmode, FLGPTN

*p_flgptn );

ERercd=twai_flg(IDFflgid, FLGPTNwaiptn, MODEwfmode, FLGPTN *p_flgptn,

TMO tmout );

-
ID flgid ID
FLGPTN waiptn
MODE wfmode
FLGPTN *p_Flgptn
T™MO tmout (twai_flg )
-
ER ercd (E_0K)
FLGPTN *p_flgptn
-
E_NOEXS (flgid )
E DLT
E_RLWAI
E_TMOUT
E_ILUSE
(TA_WSGL )
-
flgid waiptn wfmode
p_flgptn
TA_WSGL
E _ILUSE
E OK wai_flg,twai_¥Flg
flgid
TA_TFIFO FIFO TA_TPRI
pol_flg,ipol_ flg
E_TMOUT
twai_flg tmout ms tmout
OX7FFFFFFF/tick _deno(
tick _deno )
tmout TMO_POL(=0) 0
pol_flg tmout=TMO_FEVR(-1)
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wai_flg

wai_flg,twai_Fflg

¢ tmout
E_OK
2 tmout
E_TMOUT
L 4 rel_wai irel_wai
E_RLWAI
L 4 del flg
E_DLT
wfmode
wfmode( )
TWF_ANDW waiptn (AND
)
TWF_ORW wai ptn
OrR )

wai_flg,twai_flg,pol_ Flg
ipol_flg
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#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task()

UINT flgptn;
if (wai_flg(&flgptn,ID flg2, (UINT) 0x0f£0, TWF_ANDW) !=E OK)

error (“Wait Released¥n”) ;

if (pol_flg(&flgptn,ID_flg2, (UINT) 0x0f£f0, TWF_ORW) !=E OK)
printf (“Not set EventFlag¥n”);

if( twai_flg(&flgptn, ID_flg2, (UINT)Ox0ffoO, TWF_ANDW, 5) = E_OK )
error (“Wait Released¥n”) ;
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ref flg
iref_flg ( )
m C API
ER ercd = ref _flg( ID flgid, T _RFLG *pk_rflg );
ER ercd = iref_flg( ID flgid, T_RFLG *pk _rflg );
-
ID flgid ID
T_RFLG *pk_rflg
-
ER ercd (E_OK)
T_RFLG *pk_rflg
pk_rflg
typedef struct t_rflg{
1D wtskid +0 ID
FLGPTN flgptn +4
} T_RFLG;
|
E_NOEXS (flgid )
-
flgid
¢ wtskid
wtskid 1D
TSK_NONE
¢ Tfigptn
flgptn
E_NOEXS
ref flg
iref_flg
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|
c

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task()

T_RFLG rflg;
ref flg( ID flg, &rflg );
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1.7. ( )
cre_dtqg
acre_dtq (ID )
m C API
ER ercd = cre_dtq( ID dtqid, T _CDTQ *pk_cdtq );
ER_ID dtgid = acre_dtgq( T_CDTQ *pk_cdtq );
|
1D dtqid ID (cre_dtq )
T _CDTQ *pk_cdtq
pk_c
typedef struct t_cdtq {
ATR dtgatr O 4
UINT dtgent  +4 4 (
VP dtq +8 4
} T_CDTQ;
|
® cre_dtq
ER ercd (E_0K)
® acre _dtq
ER_ID dtqid>0 ID
dtqid<0
|
E_NOID ID (acre_dtq )
E_OBJ
(dtqid (cre_dtq )
E_NOMEM
|
cre_dtq dtqid pk_cdtq
acre_dtq ID ID
pk_cdtq ID dtqgid
pk_cdtq
& dtgatr( )
dtgatr ((TA_TFIFO] |JTA_TPRI) | [ MR_INT || _MR_EXT 1)
dtgatr FIFO
FIFO
TA_TFIFO FIFO
TA_TPRI
__MR_INT RAM
__MR_EXT RAM
¢ dtgcent
dtgcnt O
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¢ dtq

dtgatr
NULL

cre_dtq

cre_dtq

|
c

#include <itron.h>
#include <kernel.h>

#include “kernel_id.

#define ID dtql 1
void taskl()

T CDTQ setdtgqg;

setdtg.dtgatr =
setdtg.dtgent =

(_MR_INT,__MR_EXT)

dtgatr _ MR_INT _ MR _EXT
E _OBJ acre_dtq
E_NOID
ID
hll
__MR_EXT;
10; /* */

setdtqg.dtqg = NULL;
cre _dtg( ID dtgl, &setdtqg );

ext tsk();

NULL
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del _dtqg
m C API
ER ercd = del_dtq( ID dtqgid );
-
ID dtqid ID
-
ER ercd (E_OK)
m
E_NOEXS (dtqid )
-
dtqid
ID
(READY)
E_DLT
E_NOEXS
cre_dtqg,acre_dtq
-

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
#define ID dtg2 2
void taskl (void)

del dtg( ID dtqg 2 );

ext_tsk() ;
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snd_dtq
psnd_dtq ( )
ipsnd_dtq ( )
tsnd_dtqg ( )
fsnd_dtqg
ifsnd_dtq ( )
m C API
ER ercd = snd_dtq( 1D dtgid, VP_INT data );
ER ercd = psnd_dtq( ID dtqid, VP_INT data );
ER ercd = ipsnd _dtq( ID dtqid, VP_INT data );
ER ercd = tsnd_dtq( ID dtqid, VP_INT data, TMO tmout );
ER ercd = fsnd_dtq( ID dtqid, VP_INT data );
ER ercd = ifsnd_dtq( ID dtqgid, VP_INT data );
|
ID dtqid ID
TMO tmout (tsnd_dtq )
VP_INT data
|
ER ercd (E_OK)
|
E_NOEXS (dtqid )
E DLT
E_RLWAI
E_TMOUT
E_ILUSE (dtgent O
fsnd_dtqg, ifsnd_dtq )
EV_RST
|
dtqgid data
snd_dtqg,tsnd_dtq
dtqid
TA_TFIFO FIFO TA_TPRI
psnd_dtqg, ipsnd_dtq E_TMOUT
tsnd_dtqg tmout ms tmout
OX7FFFFFFF/tick _deno(
tick_deno )}
tmout TMO_POL=0 0
psnd_dtq tmout=TMO_FEVR(-1)

snd_dtq

snd_dtq,tsnd_dtqg
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4 tmout rcv_dtq, trcv_dtqg,prcv_dtq, iprcv_dtq
E_OK

* tmout
E_TMOUT

L 4 rel_wai irel_wai
E_RLWAI

L 4 del dtqg
E_DLT

* vrst_dtq
EV_RST

fsnd_dtq, ifsnd_dtqg ¢ )}

fsnd_dtq, ifsnd_dtqg snd_dtq
E_NOEXS

snd_dtq,tsnd_dtq,psnd_dtqg,fsnd_dtq
ipsnd_dtqg, ifsnd_dtq
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C

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
VP_INT datal[10];

void task (void)

if ( snd_dtq( ID dtq, data[0]) == E RLWAI ){
error (“Forced released¥n”) ;

if ( psnd dtq( ID dtg, datalll)== E_TMOUT ) {
error (“Timeout¥n”) ;

if( tsnd_dtq( ID dtqg, datal2], 10 ) != E_ TMOUT ) {
error (“Timeout ¥n”) ;

if ( fsnd_dtq( ID_dtq, datal3]) != E OK ){
error (“error¥n”) ;
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rcv_dtq
prcv_dtq ( )
iprcv_dtq ( )
trcv_dtq ( )
m C API

ER ercd = rcv_dtq( ID dtqid, VP_INT *p _data );

ER ercd = prcv_dtq( ID dtqgid, VP_INT *p_data );

ER ercd = iprcv_dtq( ID dtgid, VP_INT *p_data );

ER ercd = trcv_dtq( ID dtqgid, VP_INT *p_data, TMO tmout );
m

ID dtqid ID

TMO tmout (trcv_dtq )

VP_INT *p_data

|
ER ercd (E_O0K)
VP_INT *p_data
m
E_NOEXS (semid )
E_DLT
E_RLWAI
E_TMOUT
m
dtqgid p_data
( )
0

rcv_dtq,trcv_dtqg

FIFO prcv_dtq, iprcv_dtq
E_TMOUT
trcv_dtqg tmout ms tmout

OX7FFFFFFF/tick _deno(
tick_deno )
tmout TMO_POL=0 0
prcv_dtq tmout=TMO_FEVR(-1)
rcv_dtq
rcv_dtq,trcv_dtqg

¢ tmout rcv_dtq,trcv_dtq,prcv_dtq, iprcv_dtq
E_OK

* tmout
E_TMOUT
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rel_wai irel_wai

E_RLWAI
del _dtq

E_DLT
E_NOEXS

rcv_dtq,trcv_dtq,prcv_dtq
iprcv_dtg
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|
c

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task ()

VP_INT data;

if ( rov dtq( ID dtq, &data ) != E RLWAI )
error (“forced wakeup¥n”) ;

if ( prev_dtg( ID_dtqg, &data ) != E_TMOUT )
error (“Timeout¥n”) ;

if ( trev dtq( ID dtg, &data, 10 ) != E DLT )
error (“Dataqueue deleted¥n”) ;
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ref_dtq
iref_dtq ( )
m C API
ER ercd = ref_dtq( ID dtqgid, T_RDTQ *pk_rdtq );
ER ercd = iref_dtq( ID dtqgid, T_RDTQ *pk_rdtq );
-
ID dtqid ID

T_RDTQ *pk_rdtq

ER ercd (E_OK)
T _RDTQ *pk_rdtqg

pk_rdtq
typedef struct t_rdtg{
1D stskid +0 ID

1D rtskid +0 2 ID
UINT sdtqcnt  +4 4
} T_RDTQ;

N

E_NOEXS (dtqid )

dtqid
4 stskid
stskid 1D
TSK_NONE
¢ rtskid
rtskid ID
TSK_NONE
¢ sdtqent
sdtgcnt
E_NOEXS

ref _dtq
iref_dtq
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||
C
#include <itron.h>
#include <kernel.h>

#include “kernel id.h”
void task()

T _RDTQ rdtqg;

ref_atq( ID dtqg ,&rdtqg );

}
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1.8. ( )
cre_mbx
acre_mbx (ID )
m C API
ER ercd = cre_mbx( ID mbxid, T_CMBX *pk_cmbx );
ER_ID mbxid = acre_mbx( T_CMBX *pk_cmbx );
|
ID mbxid ID (cre_mbx
T_CMBX *pk_cmbx
pk_cmbx
typedef struct t_cmbx {
ATR mbxatr 0 4
PRI maxmpri +4 2
VP mprihd +8 4
} T_CMBX;
|
® cre_mbx
ER ercd (E_OK)
® acre_mbx
ER_ID mbxid>0 ID
mbxid<0
|
E_NOID ID (acre_mbx )
E_OBJ
(mbxid (cre_mbx )»
|
cre_mbx mbxid pk_cmbx
acre_mbx ID ID
pk_cmbx ID mbxid
pk_cmbx
¢ mbxatr( )
mbxatr ((TA_TFIFO] |JTA_TPRI) | ( TA_MFIFO || TA_MPRI ) )
TA_TFIFO FI1EO
TA_TPRI
TA_MPRI
TA_MFIFO EIFO
€ maxmpri
M3T-MR32R

¢ mprihd

cre_mbx
E_0OBJ

M3T-MR32R

acre_mbx
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E_NOID
cre_mbx

|
c

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
#define ID mbxl 1

void taskl()
T CMBX pk cmbx;

pk_cmbx.mbxatr = TA TFIFO;
pk_cmbx.mbxpri = 5; /*
cre mbx( ID mbxl, &pk cmbx ) ;

ext_tsk();

*/

1D
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del_mbx
m C API
ER ercd = del_mbx( ID mbxid );
|
ID mbxid ID
|
ER ercd (E_OK)
m
E_NOEXS (mbxid )
|
mbxid ID
(READY)
E DLT
E_NOEXS
cre_mbx,acre_mbx
|
c

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
#define ID mbx2 2
void taskl (void)

del mbx( ID mbx2 );

ext _tsk();
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snd_mbx
isnd_mbx (
m C API
ER ercd = snd_mbx( ID mbxid, T_MSG *pk msg );
ER ercd = isnd_mbx( ID mbxid, T_MSG *pk_msg );
-
ID mbxid ID
T_MSG *pk_msg
-
ER ercd (E_OK)
|
<< >>
typedef struct t msg{
VP msghead +0 4
} T_MSG;
<< >>
typedef struct t _msg_pri{
T _MSG msgque +0 4
PRI msgpri +4 2
} T_MSG_PRI;
-
E_NOEXS (mbxid
-
mbxid pk_msg
TA_MFIFO
T_MSG
TA_MPRI
T_MSG_PRI
TA_MFIFO, TA_MPRI RAM
T_MSG
snd_mbx
isnd_mbx
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<< >>

typedef struct user_msg{

T MSG t_msg; /* T_MSG */
B data[16]; /* */
} USER_MSG;
<< >>

typedef struct user_msg{

T_MSG_PRI t_msg; /* T_MSG_PRI */
B data[16]; /*
} USER_MSG;
-
c

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
typedef struct pri message

T _MSG_PRI msgheader;
char body[12];
} PRI MSG;

void task (void)
PRI_MSG msg;
msg.msgpri :'5;

if ( snd_mbx( ID msg, (T_MSG)&msg) != E_OK ) {
error (“‘nonexistent¥n”) ;

*/
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rcv_mbx
prcv_mbx ( )
iprcv_mbx ( )
trcv_mbx ( )
m C API
ER ercd = rcv_mbx( ID mbxid, T_MSG **ppk_msg );
ER ercd = prcv_mbx( ID mbxid, T_MSG **ppk _msg );
ER ercd = iprcv_mbx( ID mbxid, T _MSG **ppk _msg );
ER ercd = trcv_mbx( ID mbxid, T_MSG **ppk_msg, TMO tmout );
|
ID mbxid ID
TMO tmout (trcv_mbx )
T_MSG **ppk_msg
-
ER ercd (E_OK)
T_MSG **ppk_msg
|
E_NOEXS (mbxid )
E_DLT
E_RLWAI
E_TMOUT
|
mbxid ppk_msg
( )
rcv_mbx,trcv_mbx
mbxid
TA_TFIFO FIFO TA_TPRI
prcv_mbx, iprcv_mbx E_TMOUT
trcv_mbx tmout ms tmout
Ox7FFFFFFF/tick_deno(
tick_deno )}
tmout TMO_POL=0 0
prcv_mbx tmout=TMO_FEVR(-1)
rcv_mbx
rcv_mbx, trcv_mbx
¢ tmout rcv_mbx, trcv_mbx,prcv_mbx, iprcv_mbx
E_OK
L 4 tmout
E_TMOUT
L 4 rel_wai irel_wai
E_RLWAI
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L 2 del_mbx

E_DLT
E_NOEXS

rcv_mbx,trcv_mbx,prcv_mbx
iprcv_mbx

C

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”

typedef struct fifo message
T MSG head;
char body[12];
} FIFO MSG;
void task()
FIFO_MSG *msg;
if( rcv_mb%((T_MSG *)&msg, ID vmbx) == E_RLWAI )

error (“forced wakeup¥n”) ;

if ( prev_mbx ((T_MSG *)&msg, ID vmbx) != E_TMOUT )
error (“Timeout¥n”) ;

if( trcv_mbx((T_MSG *) &msg, ID_vmbx,10) != E_DLT )
error (“Mailbox deleted¥n”) ;
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ref_mbx
iref_mbx ( )
m C API
ER ercd = ref_mbx( ID mbxid, T _RMBX *pk_rmbx );
ER ercd = iref_mbx( ID mbxid, T_RMBX *pk_rmbx );
-
ID mbxid ID

T _RMBX *pk_rmbx

ER ercd (E_OK)
T_RMBX *pk_rmbx

pk_rmbx
typedef struct t_rmbx{
1D wtskid +0

T MSG *pk msg +4 4
} T_RMBX;

N

ID

E_NOEXS (mbxid )

mbxid

¢ wtskid
wtskid 1D
TSK_NONE

¢ *pk_msg

NULL
E_NOEXS

ref_mbx
iref_mbx
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||
C
#include <itron.h>
#include <kernel.h>

#include “kernel id.h”
void task()

T_RMBX pk_rmbx;

ref_ﬁbx(ID_mbx,&pk_rmbx);
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1.9. ( )

cre_mbf
acre_mbf (ID )

m C API
ER ercd = cre_mbf( ID mbfid, T_CMBF *pk_cmbf );
ER_ID mbfid = acre_mbf( T_CMBF *pk_cmbf );

-
ID mbfid ID (cre_mbf b}
T _CMBF *pk_cmbf
pk_cmbf
typedef struct t_cmbf {
ATR mbfatr O 4
UINT maxmsz +4 4 ( )
SIZE mbfsz +8 4 ( )
VP mbF +12 4
} T _CMBF;
|
® cre_mbf
ER ercd (E_OK)
® acre_mbf
ER_ID mbfid>0 ID
mbfid<0
-
E_NOID ID (acre_mbf )
E_OBJ
(mbFfid (cre_mbf D))
E_NOMEM
-
cre_mbf mbfid pk_cmbf
acre_mbf ID ID
pk_cmbf ID
mbFid pk_cmbf
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¢ mbfatr( )
mbfatr ((TA_TFIFO] | TA_TPRI) | [_MR_INT || _MR_EXT 1)
mbfatr FIFO
FIFO
TA_TFIFO FIFO
TA _TPRI
__MR_INT RAM
__MR_EXT RAM
€ maxmsz
maxmsz M3T-MR32R
¢ mbfsz
bufsz=0
4 mbf
NULL
mbfatr (_MR_INT, MR_EXT)
NULL mbfatr _ MR_INT _ MR _EXT
cre_mbf
E OBJ acre_mbf
E_NOID
cre_mbf 1D 1

|
c

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
#define ID mpll 1
void taskl (void)

T CMBF pk cmbf;

ER ercd;

pk_cmbf .mbfatr = MR INT;
pk_cmbf.maxmsz = 30;
pk_cmbf .mbfsz = 200;
pk_cmbf.mbf = NULL;

ercd = cre_mbf( ID mpll, &pk cmbf );
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del_mbf
m C API
ER ercd = del_mbf( ID mbfid );
|
ID mbFfid ID
|
ER ercd (E_OK)
m
E_NOEXS (mbfid )
|
mbfid
ID
(READY)
E DLT
cre_mbf,acre_mbf
E_NOEXS
|
C

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
#define ID mbf2 2
void taskl ()

del mbf( ID mbf2 );

ext_tsk();
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snd_mbf
psnd_mbf ( )
tsnd_mbf ( )
m C API
ER ercd = snd_mbf( ID mbfid, VP msg, UINT msgsz );
ER ercd = psnd_mbf( ID mbfid, VP msg, UINT msgsz );
ER ercd = tsnd_mbf( ID mbfid, VP msg, UINT msgsz,TMO tmout );
|
ID mbfid ID
TMO tmout (tsnd_mbf )
VP msg
UINT msgsz
|
ER ercd (E_O0K)
-
E_NOEXS (mbfid )
E_DLT
E_RLWAI
E_TMOUT
-
mbfid msg
msgsz
snd_mbT, tsnd_mbf
mbfid
TA_TFIFO FIFO TA_TPRI
psnd_mbf E_TMOUT
tsnd_mbf tmout ms tmout
Ox7FFFFFFF/tick_deno(
tick_deno )
tmout TMO_POL=0 0
psnd_mbf tmout=TMO_FEVR(-1)

snd_mb¥F

snd_mbf,tsnd_mbf
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4 tmout rcv_mb¥,trcv_mbf,prcv_mbf
E_OK

* tmout
E_TMOUT

L 4 rel_wai irel_wai
E_RLWAI

2 del_mbf
E DLT

L 2 vrst_mbf
EV_RST

rel_wai,ter_tsk,
chg_pri

c

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task()

ER ercd;
char *msg="abcdef”;

ercd = snd;mbf( ID mbf, (VP)msg, 6);

ercd

psna_mbf( ID mbf, (VP)msg, 6);

ercd = tsna_mbf( ID mbf, (VP)msg, 6, 10 );

E_NOEXS
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rcv_mbf
prcv_mbf ( )
trcv_mbf ( )
m C API
ER_UINT msgsz = rcv_mbf( ID mbfid, VP msg );
ER_UINT msgsz = prcv_mbf( ID mbfid, VP msqg);
ER_UINT msgsz = trcv_mbf( ID mbfid, VP msg, TMO tmout );
-
ID mbFfid ID
TMO tmout (trcv_mbf )
VP msg
|
ER_UINT msgsz<0
msgsz>0
VP msg
-
E_NOEXS (mbfid )
E_DLT
E_RLWAI
E_TMOUT
-
mbfid msg
1.
(READY)
2.
1
rcv_mbf,trcv_mbf
FIFO prcv_mbf E_TMOUT
trcv_mbf tmout ms tmout
Ox7FFFFFFF/tick_deno(
tick_deno )
tmout TMO_POL=0 0
prcv_mbf tmout=TMO_FEVR(-1)

rcv_mbf

rcv_mbf,trcv_mbf

¢ tmout

rcv_mbf,trcv_mbf,prcv_mbf
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E_OK

* tmout
E_TMOUT

2 rel_wai irel_wai
E_RLWAI

* del_mbf
E _DLT

E_NOEXS

|
c

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task()

char msg[128];
if ( rev_mbf (ID_mbf , (VP)&msg ) == E DLT )
error (“Buffer deleted”n”) ;

if( prcv_mbf(ID_mbf , (VP)&msg ) == E_OK )
printf (“get message¥n”) ;

if ( trcev_mbf (ID mbf , (VP)&msg, 10 ) == E RLWAI )
error (“forced wakeup”n”) ;
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ref _mbf
iref_mbf )
m C API
ER ercd = ref _mbf( ID mbfid, T _RMBF *pk_rmbf );
ER ercd = iref_mbf( ID mbfid, T_RMBF *pk_rmbf );
-
ID mbFfid ID
T _RMBF *pk_rmbf
-
ER ercd (E_OK)
T_RMBF *pk_rmbf
pk_rmbf
typedef struct t_rmbf{
1D stskid +0 2 ID
1D rtskid +0 2 ID
UINT smsgent  +4 4
SIZE fmbfsz +8 4 (
} T _RMBF;
-
E_NOEXS (mbFfid )
-
mbFfid
¢ stskid
stskid ID
TSK_NONE
¢ rtskid
rtskid ID
TSK_NONE
smsgcent
smsgcnt
fmbfsz
E_NOEXS
ref _mbf
iref_mbf
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|
c

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task()

T_RMBF pk_rmbf;

ref_mbf(ID_mbf, &pk_rmbf, ) ;
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1.10. ( )

cre_por
acre_por (ID )

m C API
ER ercd = cre_por( ID porid, T _CPOR *pk_cpor );
ER_ID porid = acre_por( T_CPOR *pk_cpor );

-
1D porid ID (cre_por )
T _CPOR *pk_cpor
pk_cpor
typedef struct t_cpor {
ATR poratr 0 4
UINT maxcmsz +4 4 ( )
UINT maxrmsz +8 4 ( )
} T_CPOR;
-
® cre_por
ER ercd (E_0K)
® acre_por
ER_ID porid>0 ID
porid<0
|
E_NOID ID (acre_mbx )
E_OBJ
(porid (cre_por )
-
cre_por porid pk_cpor
acre_por 1D ID
pk_cpor ID porid
pk_cpor
pk_cpor
¢ poratr( )
poratr (TA_TFIFO] | TA_TPRI)
poratr FIFO
TA_TFIFO FIFO
TA_TPRI
€ maxcmsz
maxcmsz M3T-MR32R
€ maxrmsz
maxrmsz M3T-MR32R
E_OBJ
ID 1
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acre_por
E_NOID

|
c

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void taskl ()

T _CPOR setpor;
setpor.maxcmsz 300;

setpor.maxrmsz 200;
cre por( 1, &setpor );
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del por
m C API
ER ercd = del_por( ID porid );
|
ID porid ID
|
ER ercd (E_OK)
m
E_NOEXS (porid )
|
porid ID
(READY)
E_DLT
Ccre_por,acre_por
E_NOEXS
|
c

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
#define ID por2 2
void taskl ()

dei_por( ID por2 );

ex{:_t sk () ;
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cal_por
tcal _por

m C API

ER_UINT rmsgsz = cal_por( ID porid, RDVPTN calptn, VP msg, UINT cmsgsz ) ;
ER_UINT rmsgsz = tcal_por( ID porid, RDVPTN calptn, VP msg, UINT cmsgsz,

ID
RDVPTN
VP

UINT
TMO

ER_UINT

E_NOEXS
E DLT

E_RLWAI
E_TMOUT

(acp_por

cmsgsz

cal_por

porid

tcal_por

TMO tmout );
porid ID
calptn
msg
(
cmsgsz (
tmout (tcal_por )
rmsgsz<0
rmsgsz>=0
(porid
porid
tacp_por )
calptn acpptn
rpl_rdv
cal_por,tcal_por
msg

acp_por,tacp_por,pacp_por

rpl_rdv
msg
2
( 0 )
TA_TFIFO FIFO
tmout ms

OX7FFFFFFF/tick_deno(

tick_deno )}

&/ &/

)
0
(READY)
porid
TA_TPRI
tmout

-100-



1.10 ( )

tmout TMO_POL=0
tmout=TMO_FEVR(-1) cal_por
cal_por,tcal_por

¢ tmout rpl_rdv
E_OK
* tmout
E_TMOUT
2 rpl_rdv tmout
E_TMOUT
2 rel_wai irel_wai
E_RLWAI
* del_por
E DLT
E_NOEXS
calptn 0 0

|
c

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task (void)

char msg[128];
INT cmsgsz;

cal por (ID porl, 0x3, (VP)msg, cmsgsz);

tcal por (ID porl, 0x3, (VP)msg, cmsgsz, 10);
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acp_por
pacp_por ( )
tacp_por ( )
m C API
ER_UINT cmsgsz = acp_por( ID porid, RDVPTN acpptn, RDVNO *p_rdvno, VP
msg );
ER_UINT cmsgsz = pacp_por( ID porid, RDVPTN acpptn, RDVNO *p_rdvno,
VP msg );
ER_UINT cmsgsz = tacp_por( ID porid, RDVPTN acpptn, RDVNO *p_rdvno,
VP msg,
TMO tmout );
-
ID porid ID
RDVPTN acpptn
VP msg
RDVNO *p_rdvno
TMO tmout (tcal_por )
-
ER_UINT cmsgsz<0
cmsgsz>=0
RDVNO *p_rdvno
-
E_NOEXS (porid )
E DLT
E_RLWAI
E_TMOUT
-
porid
(cal_por tcal_por )
calptn acpptn 0
0
cal_por cal_por msg cmsgsz

acp_por,tacp_por,pacp_por
cmsgsz  acp_por

acp_por,tacp_por porid
pacp_por
E_TMOUT
tcal_acp tmout ms tmout
OX7FFFFFFF/tick_deno(
tick_deno )
tmout TMO_POL=0 0
pacp_por tmout=TMO_FEVR(-1)

acp_por

-102-



1.10 ( )

acp_por ,tacp_por

¢ tmout
E_OK
2 tmout
E_TMOUT
4 rel_wai irel_wai
E_RLWAI
* del_por
E_DLT
( rpl_rdv )
rdvno rpl_rdv
fwd_por
acpptn 0 acpptn 0

E_NOEXS

C

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task()

char msg[128];
RDVNO rdvno;

acp_por (ID porl, 0x3, &rdvno, &msg);
pacp_por (ID porl, 0x3, &rdvno, &msg) ;

tacp por (ID porl, 0x3, &rdvno, &msg, 10);
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fwd_por
m C API
ER ercd = fwd_por( ID porid, RDVPTN calptn, RDVNO rdvno, VP msg, UINT
cmsgsz );
|
ID porid ID
RDVPTN calptn
RDVNO rdvno
VP msg
( )
UINT cmsgsz ( )
-
ER ercd (E_0K)
-
E_NOEXS (porid )
E_0OBJ (rdvno )
-
rdvno porid
(acp_por,tacp_por,pacp_por )
rdvno
porid
calptn acpptn 0
msg cmsgsz
porid TA_TFIFO
FIFO TA_TPRI
¢ cmsgsz maxcmsz
€ cmsgsz maxrmsz
rdvno E OBJ
E_NOEXS
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||
C
#include <itron.h>
#include <kernel.h>

#include “kernel id.h”
void task()

char *msg="abcdef”;
RDVNO rdvno;

fwd por (ID porid, 0x3, rdvno, (VP)msg,

6);
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rpl_rdv
m C API
ER ercd = rpl_rdv( RDVNO rdvno, VP msg, UINT rmsgsz );
-
RDVNO rdvno
VP msg
UINT rmsgsz ( ))
|
ER ercd (E_0K)
-
E_OBJ (rdvno )
|
(acp_por,tacp_por,pacp_por )
msg
rmsgsz cal_por,tcal_por msg
(READY)
€ rmsgsz
¢ rmsgsz maxrmsz
(rpl_rdv
E_OBJ
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|
c

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task()

char *msg="abcdef”;
RDVNO rdvno;
INT rmsgsz;

rpi_rdv(rdvno, (VP)msg, 6);
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ref_por
iref_por ( )
m C API
ER ercd = ref _por( ID porid, T _RPOR *pk_rpor );
ER ercd = iref_por( ID porid, T_RPOR *pk_rpor );
|
ID porid ID

T_RPOR *pk_r

-
ER ercd (E_OK)
T_RPOR *pk_r
pk_rpor
typedef struct t_rpor{
ID ctskid +0 2 1D
1D atskid +2 2 ID
} T_RPOR;
-
E_NOEXS (porid )
-
porid
¢ ctskid
ctskid ID
TSK_NONE
¢ atskid
atskid ID
TSK_NONE
E_NOEXS
ref_por
iref_por
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|
c

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task (void)

T_RPOR rpor;

ref por (ID por ,&rpor);
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ref rdv
iref_rdv (
m C API
ER ercd = ref _rdv( RDVNO rdvno, T _RRDV *pk_rrdv );
ER ercd = iref_rdv( RDVNO rdvno, T_RRDV *pk_rrdv );
-
RDVNO rdvno

T _RRDV *pk_rrdv

ER ercd
T_RRDV *pk_rrdv

pk_rrdv
typedef struct t_rrdv{
1D wtskid +0 2

} T_RRDV;

rdvno
¢ wtskid
rdvno
ID wtskid

iref_rdv

(E_OK)

TSK_NONE

ref_rdv

ID
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|
C
#include <itron.h>
#include <kernel.h>

#include “kernel id.h”
void task(void)

T RRDV rrdv;
RDVNO rdvno;

ref_rdv( rdvno, &rrdv) ;
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1.11. ( )

cre_mpf
acre_mpf (ID )

m C API
ER ercd = cre_mpf( ID mpfid, T_CMPF *pk_cmpf );
ER_ID mpfid = acre_mpf( T_CMPF *pk_cmpf );

-
1D mpfid ID (cre_mpf )
T _CMPF *pk_cmpf
pk_cmpf
typedef struct t_cmpf {
ATR mpfatr O 4
UINT blkent +4 4 ( )
UINT blksz +8 4 ( )
VP mpF +12 4
} T_CMPF;
|
® cre_mpf
ER ercd (E_OK)
® acre_mpf
ER_ID mpfid>0 ID
mpFid<0
-
E_NOID ID (acre_mpf )
E_OBJ
(mpFid (cre_mpf ))
E_NOMEM
-
cre_mpf mpfid pk_cmpf
acre_mpf ID
ID pk_cmpf ID
mpfid
pk_cmpf
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¢ mpfatr( )
mpfatr ((TA_TFIFO|JTA_TPRI) | [__MR_INT || _MR EXT 1)
TA_TFIFO FI1EO
TA_TPRI
__MR_INT RAM
—_MR_EXT RAM
¢ blkent
1 1024
¢ blksz
1
& mpf
NULL
mpfatr (_MR_INT, MR _EXT)
NULL mpfatr _ MR_INT _ MR_EXT
cre_mpf
E OBJ acre_mpf
E_NOID
cre_mpf ID 1

|
C

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
#define ID mpfl 1
void task (void)

T_CMPF setmpf;

setmpf.mpfatr = .
setmpf.blkent = 20;
setmpf.blfsz = 400;
setmpf.mpf = NULL;
cre mpf (ID mpfl, &setmpf) ;
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del_mpf
m C API
ER ercd = del_mpf( ID mpfid );
-
ID mpfid 1D
-
ER ercd (E_OK)
|
E_NOEXS (mpfid
-
mpFid
ID
(READY)
E DLT
cre_mpf,acre_mpf
E_NOEXS
-
C

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task (void)

del_ﬁpf(ID_mpfl);

}
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get_mpf
pget_mpf ( )
ipget_mpf ( )
tget_mpf ( )
m C API
ER ercd = get_mpf( ID mpfid, VP *p_blk );
ER ercd = pget mpf( ID mpfid, VP *p blk );
ER ercd = ipget mpf( ID mpfid, VP *p_blk );
ER ercd = tget_mpf( ID mpfid, VP *p_blk,TMO tmout );
|
ID mpfid ID
TMO tmout (tget_mpf )
VP *p_blk
|
ER ercd (E_O0K)
VP *p_blk
|
E_NOEXS (mpfid )
E DLT
E_RLWAI
E_TMOUT
EV_RST
|
mpFid
p_blf
tget_mpf,get _mpf
mpFid
TA_TFIFO FIFO TA_TPRI
pget_mpf, ipget_mpf
E_TMOUT
tget _mpf tmout ms tmout
Ox7FFFFFFF/tick_deno(
tick_deno )
tmout TMO_POL=0 0
pget mpf tmout=TMO_FEVR(-1)
get_mpf
get _mpf,tget_mpf
¢ tmout rel_mpf,irel_mpf
E OK
L 4 tmout
E_TMOUT
* rel_wai irel_wai
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E_RLWAI
4 del_mpf
E DLT
'3 vrst_mpf
EV_RST
E_NOEXS
get_mpf,pget_mpf,tget mpf
ipget_mpf
|
C
#include <mr32.h>
#include “kernel id.h”
VP p_blk;
void task()
if ( get mpf (ID mpf ,&p blk) != E OK ) {

error (“Not enough memory¥n”) ;

if( pget_mbf(ID_mpf ,&p_blk) != E OK ) {
error (“Not enough memory¥n”) ;

if( tget mpf (ID mpf ,&p blk, 10) != E OK ) {
error (“Not enough memory¥n”) ;
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rel_mpf
irel_mpf

m C

API
ER ercd

= rel_mpf( ID mpfid, VP blk );
ER ercd = 1

rel_mpf( 1D mpfid, VP blk);
ID mpfid
VP blk
ER ercd (E_0OK)
E_NOEXS (mpfid
bik

get_mpf,tget_mpf,pget mpf, ipget mpf
blk

(RUN)

rel_mpf
irel_mpf

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
#define ID mpfl 1
void task()

VP p blf;
if ( get_mpf (ID_mpfl,&p_blf) != E_OK )
error (*Not enough memory ¥n”) ;

rel mpf (ID mpfl,p blf);

ID

blk

(READY)
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ref_mpf
iref_mpf )
m C API
ER ercd = ref _mpf( ID mpfid, T_RMPF *pk_rmpf );
ER ercd = iref_mpf( ID mpfid, T_RMPF *pk_rmpf );
-
ID mpfid ID
T_RMPF *pk_rmpf
-
ER ercd (E_OK)
T_RMPF *pk_rmpf
pk_rmpf
typedef struct t_rmpf{
1D wtskid +0 2 ID
UINT fblkent +4 4 (
} T_RMPF;
-
E_NOEXS (mpFid )
|
mpFid
¢ wtskid
wtskid ID
TSK_NONE
¢ fblkent
E_NOEXS
ref_mpf
iref_mpf
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|
c

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task()

T RMPF rmpf;

ref mpf (ID mpf , &rmpf) ;

ext tsk();
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1.12. (

cre_mp
acre_mp

(ID )

m C API

ER ercd = cre_mpl( ID mplid, T_CMPL *pk_cmpl );

ER_ID mplid = acre_mpl( T_CMPL *pk_cmpl );

-
1D mplid ID (cre_mpl )
T _CMPL *pk_cmpl
pk_cmpl
typedef struct t_cmpl {
ATR mplatr 0 4
SIZE mplsz +4 4
UINT maxblksz +8 4
VP mpl +12 4
} T _CMPL;
|
® cre_mpl
ER ercd (E_0K)
® acre_mpl
ER_ID mpl1d>0 ID
mplid<0
-
E_NOID ID (acre_mpl )
E_OBJ
(mplid (cre_mpl )
E_NOMEM
|
cre_mpl mplid pk_cmpl
acre_mpl ID
ID pk_cmpl ID
mplid
pk_cmpl
¢ mplatr( )
mplatr ((TA_TFIFO) | [LMR_INT |1 _MR_EXT ] )
TA_TPRI
TA_TFIFO FIFO
__ MR_INT RAM
_ MR_EXT RAM
& nmplsz
¢ maxblksz
M3T-MR32R 4
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¢ npl

mplatr
NULL

cre_mpl
E_0OBJ
E_NOID

cre_mpl

|
C

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task(void)

T CMPL setmpl;
setmpl.mplatr = MR INT;
setmpl.mplsz = 5000;
setmpl.maxblksz = 400;
setmpl.mpl = NULL;
cre mpl (ID mpll, &setmpl) ;

4
maxblksz

(_MR_INT,__MR_EXT)

mplatr _ MR_INT _ MR_EXT

acre_mpl

1D

NULL
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del_mpl
m C API
ER ercd = del_mpl( ID mplid );
-
ID mplid ID
-
ER ercd (E_OK)
|
E_NOEXS (mplid
-
mplid
ID
(READY)
E DLT
cre_mpl,acre_mpl
E_NOEXS
-
C

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task (void)

dei_mpl(ID_mpll);
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get_mp
pget_mpl ( )
tget_mpl ( )
m C API
ER ercd = get_mpl( ID mplid, UINT blksz, VP *p _blk );
ER ercd = pget mpl( ID mplid, UINT blksz, VP *p _blk );
ER ercd = tget_mpl( ID mplid, UINT blksz, VP *p_blk,TMO tmout );
|
ID mplid ID
UINT blksz ( )
TMO tmout (tget_mpl )
VP *p_blk
|
ER ercd (E_O0K)
VP *p_blk
|
E_NOEXS (mplid )
E_DLT
E_RLWAI
E_TMOUT
EV_RST
|
mplid

p_blk
tget_mpl,get_mpl

FIFO 4
pget_mpl E_TMOUT
tget_mpl tmout ms tmout
Ox7FFFFFFF/tick_deno(
tick_deno )
tmout TMO_POL=0 0
pget_mpl tmout=TMO_FEVR(-1)
get_mpl
get_mpl,tget_mpl

¢ tmout rel_mpl
E_OK
* tmout
E_TMOUT
4 rel_wai irel_wai
4 M3T-MR32R TA_TPRI FIFO
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E_RLWAI
2 del_mpl
E DLT
* vrst_mpl
EV_RST
rel_wai,ter_tsk,
E_NOEXS
|
C
#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
#define ID mpll 1
VP p_blk;
void task (void)
if ( get mpl( ID mpll, 70, &p _blk ) != E OK ){

error (“Can’t get memory¥n”) ;

}

if ( pget_mpl( ID mpll, 70, &p blk ) I= E OK ){
error (“Can’t get memory ¥n”);
}

if( tget_mﬁl( ID mpll, 70, &p_blk, 10 ) != E OK ){
error (“Can’t get memory ¥n”);
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rel_mpl
m C API
ER ercd = rel_mpl( ID mplid, VP blk );
|
ID mplid ID
VP blk
|
ER ercd (E_OK)
|
E_NOEXS
|
blk
get_mpl,tget_mpl,pget_mpl
blk blk
(RUN) (READY)
|
C
#include <itron.h>
#include <kernel.h>
#include “kernel_id.h”
#define ID mpll 1
void task()
VP  p blk;
/* 60 */
if ( pget_mpl (ID mpll,60,&p blk) != E OK )
error (*Not enough memory ¥n”);
rel_mpl(ID;mpll,p_blk); /* */
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ref_mpl
iref_mpl ( )
m C API
ER ercd = ref _mpl( ID mplid, T_RMPL *pk_rmpl );
ER ercd = iref_mpl( ID mplid, T_RMPL *pk_rmpl );
|
ID mplid ID

T_RMPL *pk_rmpl

ER ercd (E_OK)
T _RMPL *pk_rmpl

pk_rmpl
typedef struct t_rmpl{
1D wtskid +0 2 ID

SIZE fmplsz +4 4 ( )
UINT Tblksz +8 4 ( )
} T_RMPL;

E_NOEXS (mplid )

mplid
¢ wtskid
wtskid ( ) 1ID
TSK_NONE
¢ fmplsz

& fTblksz
E_NOEXS

ref_mpl
iref_mpl
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|
c

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task()

T RMPL rmpl;
ref mpl (ID mpll, &rmpl) ;
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1.13.

set_tim

iset_tim ( )
m C API

ER ercd = set_tim( SYSTIM *p_systim );

ER ercd iset_tim( SYSTIM *p_systim );
-
SYSTIM *p_systim
p_systim
typedef struct t_systim {
UH utime 0 2 16bit
uw Itime +4 4 32bit
} SYSTIM;
-
ER ercd (E_0K)
-
-
p_systim p_systim
“ms”
p_systim OX7FFFFFFF/tick_deno(
tick _deno )}
set_tim
iset_tim
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|
c

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task()

SYSTIME time; /*

time.utime = 0; /*
time.ltime = 0; /*
set_tim( &time ); /*

*/
*/
*/
*/
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get_tim
iget_tim (
m C API
ER ercd = get_tim( SYSTIM *p_systim );
ER ercd = iget_tim( SYSTIM *p_systim );
-
SYSTIM *p_systim
-
ER ercd (E_0K)
SYSTIM *p_systim
p_systim
typedef struct t_systim {
UH utime 0 2 16bit
uw Itime +4 4 32bit
} SYSTIM;
-
|
p_systim ’ms”
get_tim
iget_tim
-
c
#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task()
SYSTIME time; /* */
get_tim( &time ); /* */

printf (“system clock.utime =
printf (“system clock.ltime =

$X¥n” ,time.utime) ;
$X¥n” ,time.ltime) ;
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Isig_tim
|
(__sys_timer)
tick _deno / tick _nume(ms) isig_tim
(__sys_timer)

€5

@

€))

(4) tslp_tsk

(tget_mpl,
snd_mbT, tsnd_mbf )
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1.14. ( )

cre_cyc
acre_cyc (ID )

m C API
ER ercd = cre_cyc( ID cycid, T _CCYC *pk_ccyc );
ER_ID cycid = acre_cyc( T_CCYC *pk_ccyc );

|
1D cycid ID cre_cyc
T _CCYC *pk_ccyc
pk_ccyc
typedef struct t_ccyc {
ATR cycatr O 4
VP_INT exinf +4 4
FP cychdr +8 4
RELTIM cyctim +12 4
RELTIM cycphs +16 4
} T_CCYC;
|
® cre_cyc
ER ercd (E_0K)
® acre_cyc
ER_ID cycid>0 ID
cycid<0
|
E_NOID ID (acre_cyc )
E_OBJ
(cycid (cre_cyc )
|
cre_cyc cycid pk_ccyc
acre_cyc ID ID
pk_ccyc ID cycid
pk_ccyc
¢ cycatr( )
cycatr [TA_HLNG || TA_ASM] |[TA_STA] | [TA_PHS]
TA_HLNG,TA_ASM C
TA_STA
TA_PHS
TA_HLNG
TA_ASM
¢ exinf
¢ cychdr
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¢ cyctim
ms
5
cyctim
€ cycphs
ms TA_PHS
sta_cyc, ista_cyc
0
cycphs>cyctim cycphs,cyctim
cyctim,cycphs OxXFFFFFFFF/tick_deno(
tick_deno )]
cycphs( )
cyctim( )}
cre_cyc
E_OBJ acre_cyc
E_NOID
cre_cyc 1D 1

set_tim,iset_tim
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|
C

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task()

T CCYC pk ccycl;

pk_ccycl.cycatr= (ATR)TA HLNG | TA STA;
pk_ccycl.cychdr= (FP)cycl;
pk_ccycl.cycact TCY ON;

pk _ccycl.cyctim 200;

cre cyc( ID cycl, & pk ccycl );

void cycl (void)
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del cyc
m C API
ER ercd = del_cyc( ID cycid );
|
ID cycid ID
|
ER ercd (E_OK)
m
E_NOEXS (cycid )]
|
cycid ID
E_NOEXS
cre_cyc,acre_cyc
|
C

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task()

del_éyc( ID cycl );

}
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sta _cyc
ista_cyc ( )
m C API

ER ercd = sta _cyc( ID cycid );

ER ercd = ista_cyc( ID cycid );
-

ID cycid 1D
-
ER ercd (E_0K)
-
E_NOEXS (Cycid )

-

cycid

TA_PHS

TA_PHS

TA_PHS

E_NOEXS
sta_cyc

ista_cyc

-
c

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task()

sta_cyc ( ID cycl );
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Stp_cyc
iIstp_cyc ( )
m C API
ER ercd = stp_cyc( ID cycid );
ER ercd = istp_cyc( ID cycid );
-
ID cycid ID
-
ER ercd (E_0K)
-
E_NOEXS (cycid )
-
cycid
E_NOEXS
stp_cyc
istp_cyc
-
C

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task()

stp cyc ( ID cycl );

}
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ref cyc
iref_cyc ( )
m C API
ER ercd = ref _cyc( ID cycid, T_RCYC *pk_rcyc );
ER ercd = iref_cyc( ID cycid, T_RCYC *pk_rcyc );
-
ID cycid 1D
T_RCYC *pk_rcyc
-
ER ercd (E_OK)
T _RCYC *pk_rcyc
pk_rcyc
typedef struct t_rcyc{
STAT cycstat +0 4
RELTIM lefttim +4 4
} T_RCYC;
-
E_NOEXS (cycid )
-
cycid
€ cycstat
TCYC_STA
TCYC_STP
& lefttim
ms”
E_NOEXS
ref _cyc
iref_cyc
-
c

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task()

T RCYC rcyc;
ref cyc( ID cycl ,&rcyc );
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1.15. ( )
cre_alm
acre_alm (ID
m C API
ER ercd = cre_alm( ID almid, T_CALM *pk_calm );
ER_ID almid = acre_alm( T_CALM *pk_calm );
|
ID almid ID cre_alm
T _CALM *pk_calm
pk_calm
typedef struct t_calm {
ATR almatr O 4
VP_INT exinf +4 4
FP almhdr +8 4
} T_CALM;
|
® cre_alm
ER ercd (E_OK)
® acre_alm
ER_ID almid>0 ID
almid<0
|
E_NOID ID (acre_alm )
E_OBJ
(almid (cre_alm )»
|
cre_alm almid pk_calm
acre_alm ID ID
pk_calm ID
almid pk_calm
¢ almatr( )
almatr [TA_HLNG || TA_AsSM]
TA _HLNG,TA_ASM C
TA_HLNG
TA_ASM
& exinf
¢ almhdr

sta_alm,ista_alm
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cre_alm
E_OBJ
E_NOID

cre_alm

|
c

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task()

T_CALM pk_calml;
pk_calml.almhdr= (FP)alml;
cre alm( ID alml, &pk calml );

void alml (void)

acre_alm

1D
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del _alm
m C API
ER ercd = del_alm( ID almid );
|
ID almid ID
|
ER ercd (E_OK)
m
E_NOEXS (almid )
|
almid ID
E_NOEXS
cre_alm,acre_alm
|
C

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task()

del_élm( ID alml );
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sta_alm
ista_alm ( )
m C API
ER ercd = sta_alm( ID almid, RELTIM almtim );
ER ercd = ista_alm( ID almid, RELTIM almtim );
|
ID almid ID

RELTIM almtim

-
ER ercd (E_0K)
|
E_NOEXS (almid )
-
almid
almtim
almtim ms almtim OXFFFFFFFF
/tick _deno( tick_deno D)
almtim O
E_NOEXS
sta_alm
ista _alm
-
c

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task()

sta_alm( ID alml, 100 );

-142-



1.15

stp_alm
istp_alm )
m C API
ER ercd = stp_alm( ID almid );
ER ercd = istp_alm( ID almid );
|
ID almid ID
|
ER ercd (E_0K)
|
E_NOEXS (almid )
|
almid
E_NOEXS
stp_alm
istp_alm
|
C

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task()

stp_élm( ID alml );

}
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1.15 ( )

ref _alm
iref_alm ( )
m C API
ER ercd = ref_alm( ID almid, T_RALM *pk_ralm );
ER ercd = iref_alm( ID almid, T_RALM *pk_ralm );
-
ID almid ID

T RALM *pk_ralm

ER ercd (E_OK)
T_RALM *pk_ralm

pk_ralm
typedef struct t_ralm{
STAT almstat +0 4

RELTIM lefttim +4 4
} T_RALM;

E_NOEXS (almid )

almid
¢ almstat

TALM_STA
TALM_STP

¢ lefttim

ms
E_NOEXS

ref_alm
iref_alm

|
C

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void func()

T RALM ralm;
ref alm( ID alarm, &ralm );
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1.16

1.16.
rot_rdq
irot_rdq ( )
m C API
ER ercd = rot_rdq( PRI tskpri );
ER ercd = irot_rdq( PRI tskpri );
|
PRI tskpri
|
ER ercd (E_OK)
|
|
tskpri
1
1 taskA
2 taskB | taskC
n taskD taskE taskF |-
i l____A____
L e e e e e e e ;
1 rot_rdq
rot_rdq tskpri=TPRI_SELF
irot_rdq
TPR1_SELF
rot_rdq
irot_rdq
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1.16

||
C
#include <itron.h>
#include <kernel.h>

#include “kernel id.h”
void task()

rot_qu( 2 );
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1.16

get_tid ID
iget_tid ID (
m C API
ER ercd = get_tid( ID *p_tskid );
ER ercd = iget_tid( ID *p_tskid );
-
ID *p_tskid ID
-
ER ercd (E_0K)
ID *p_tskid 1D
-
|
ID p_tskid
ID
ID
TSK_NONE
get_tid
iget_tid
-
C

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task()

ID tskid;

get_tid(stskid);

-147-



1.16

loc_cpu CPU
iloc_cpu CPU ( )
m C API
ER ercd = loc_cpu(Q);
ER ercd = iloc_cpu(Q);
-
|
ER ercd (E_O0K)
-
-
CPU CPU
(1) CPU
@
(3) CPU
ext_tsk
exd_tsk
sns_tex
loc_cpu, iloc_cpu
unl_cpu, itunl_cpu
sns_ctx
sns_loc
sns_dsp
sns_dpn
CPU
(a) unl _cpu, iunl_cpu
(b) ext_tsk, exd_tsk
CPU CPU loc_cpu, iloc_cpu, unl _cpu,
iunl_cpu, ext_tsk,exd tsk
CPU
SCPU
CPU
CPU
loc_cpu
iloc cpu
6 CPU
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1.16

|
C
#include <itron.h>
#include <kernel.h>

#include “kernel id.h”
void task()

loc;cpu();
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1.16

unl_cpu CPU
iunl_cpu CPU ( )
m C API

ER ercd = unl_cpuQ);

ER ercd = iunl_cpu(Q);
-
|

ER ercd (E_O0K)

-
-

loc_cpu, 1loc_cpu CPU

unl_cpu
iloc_cpu CPU
iunl_cpu CPU
CPU unl_cpu,
iunl_cpu dis_dsp
unl_cpu

iunl_cpu

-
c

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task()

unl cpu() ;
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1.16

dis_dsp
m C API
ER ercd = dis_dsp(Q);
|
|
ER ercd (E_0K)
|
|
€5)
@
€))
(a) ena_dsp
(b) ext _tsk, exd _tsk
dis_dsp, ena_dsp, ext_tsk,
exd_tsk
|
c

#include <itron.h>
#include <kernel.h>
#include “kernel_id.h”
void task()

dis dsp() ;

}
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1.16

ena_dsp
m C API

ER ercd = ena_dsp(Q);
|
|

ER ercd (E_0K)

|
|

dis_dsp
m

c

#include <itron.h>
#include <kernel.h>
#include “kernel_id.h”
void task()

ené_dsp();
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1.16

sns_ctx
m C API
ER ercd = sns_ctx();
-
-
BOOL state TRUE:
FALSE:
|
|
TRUE
FALSE CPU
-
C

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task()

sns_ctx () ;
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1.16

sns_loc CPU

m C API
ER ercd = sns_loc(Q);
-

BOOL state TRUE-CPU
FALSE:CPU

CPU TRUE CPU FALSE
CPU

||
C
#include <itron.h>
#include <kernel.h>

#include “kernel id.h”
void task()

sné_loc();
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1.16

sns_dsp

m C API
ER ercd = sns_dsp(Q);

BOOL state TRUE -
FALSE:

TRUE FALSE
CPU

||
C
#include <itron.h>
#include <kernel.h>

#include “kernel id.h”
void task()

sné_dsp();
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1.16

sns_dpn
m C API
ER ercd = sns_dpn(Q);
|
|
BOOL state TRUE:
FALSE:
m
m
TRUE FALSE
FALSE TRUE
€5
(2) CPU
€©))
CPU
TRUE
|
c

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task()

sné_dpn();
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1.17

1.17.
def_inh
idef_inh ( )
m C API
ER ercd = def_inh( INHNO inhno, T _DINH *pk_dinh );
ER ercd = idef_inh( INHNO inhno, T _DINH *pk _dinh );
-
INHNO inhno
T_DINH *pk_dinh
pk_dinh
typedef struct t dinh {
ATR inhatr O 4
FP inthdr +4 4
} T_DINH;
-
ER ercd (E_0K)
-
-
inhno
inhno
¢ intatr
TA_HLNG,TA_ASM C
TA_HLNG
TA_ASM
¢ inthdr
pk_dinh=NULL
(INTERRUPT_VECTOR
) RAM
def_inh
idef _inh
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1.17

||
C
#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task()
T DINH dinhl;
dinhl.inthdr = inhil;
def inh( ID inhl, &dinhl );

void inhl (void)
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1.18

1.18.
ref _ver
iref_ver ( )
m C API
ER ercd = ref_ver( T_RVER *pk_rver );
ER ercd = iref_ver( T_RVER *pk _rver );
-
T _RVER *pk_rver
pk_rver
typedef struct t_rver {
UH maker 0 2
UH prid +2 2
UH spver +4 2 1TRON
UH prver +6 2
UH prno[4] +8 2
} T_RVER;
-
ER ercd (E_0K)
-
-
pk_rver
pk_rver
€ maker
H”115
¢ prid
M3T-MR32R IDH” 221
€ spver
[ ITRON Ver4.02.00
¢ prver
M3T-MR32R H"400
¢ prno
® prno[0]
-01°
® prno[1]
2 ( ) H”*0411
® prno[2]
® prno[3]
ref_ver
iref_ver
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1.18

|
c

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void task()

T RVER pk_rver;
ref ver( &pk rver );
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1.19

1.19.
vrst_dtq
m C API
ER ercd = vrst_dtq( ID dtqid );
-
ID dtqid ID
-
ER ercd (E_OK)
-
E_NOEXS (dtgid
-
dtqid
EV_RST
E_NOEXS
-
c

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void taskl (void)

vrst_dtq( ID dtql );
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1.19

vrst_mbx
m C API
ER ercd = vrst_mbx( ID mbxid );
|
ID mbxid ID
|
ER ercd (E_OK)
m
E_NOEXS (mbxid
|
mbxid
E_NOEXS
m
c

#include <itron.h>
#include <kernel.h>
#include “kernel_id.h”
void taskl (void)

vrst_mbx( ID mbxl );
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1.19

vrst_mbf
m C API
ER ercd = vrst_mbf( ID mbfid );
|
ID mbFfid ID
|
ER ercd (E_OK)
m
E_NOEXS (mbfid
|
mbfid
EV_RST
E_NOEXS
m
c

#include <itron.h>
#include <kernel.h>
#include “kernel_id.h”
void taskl ()

vrst_mbf (ID_mbfl)
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1.19

vrst_mpf
m C API
ER ercd = vrst_mpf( ID mpfid );
|
ID mpfid ID
|
ER ercd (E_OK)
|
E_NOEXS (mpfid
|
mpFid
EV_RST
E_NOEXS
|
c

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void taskl ()

vrét_mpf(ID_mpfl))
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1.19

vrst_mpl
m C API
ER ercd = vrst_mpl( ID mplid );
|
ID mplid ID
|
ER ercd (E_OK)
m
E_NOEXS (mplid
|
mplid
EV_RST
E_NOEXS
|
c

#include <itron.h>
#include <kernel.h>
#include “kernel id.h”
void taskl ()

vrét_mpl(ID_mpll))
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2.1

2.1.

MR32R

1)

()

®3)

76

4 2
2
cre_tsk 60
del_tsk 28
exd_tsk 28
cre_dtq 60
del_dtq 28
cre_mbf 60
del_mbf 28
cre_mpf 60
del_mpf 28
cre_mpl 68
del_mpl 28
get_mpl 68
tget_mpl 68
pget_mpl 68
rel_mpl 20
vrst_mpl 40
sta_tsk
76
4
isnd_mbx
4 80
cre_mpl
76
4 2

64

76
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2.2

2.2.
MR32R
®
MR32R
[ ]
MR32R

MR32R

MR32R
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EIT

ID

ID

ID
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2.2

2.2.1.
e C
C
1.
2. MR32R
76
12
[ J
1.
2.
76
12
5
funcl
4
<>
funcl() 76 (
get_tid
76 (
< >
sta_tsk
: 80 :
5
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2.2

2.2.2.
= o+ 2 BiCty)
[ Yo
sta_tsk ext tsk cre_tsk
cre_tsk 60
sta_tsk 4
ext_tsk 4
slp_tsk 4
cre_tsk 60
o 3i
oy
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Bi:
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B2
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O
O
O
C
\/\ e )
4
~
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( )
80
&
iset_flg
ret_int
[}
[}
] ~
1 7
! 160

& _RESTORE_IPL_from_STACK _ SAVE_IPL_to_STACK
MR32R
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3.1

3.1

cre_tsk

acre_tsk ( ID
del_tsk

act_tsk [S]

iact_tsk [S]

can_act [S]

ican_act [S] (
sta_tsk (

ista_tsk (

ext_tsk [S]

exd_tsk

ter_tsk [S]

chg_pri [S]

ichg_pri (
get_pri [S]

iget_pri ( )
ref_tsk

iref_tsk (
ref_tst ( )
iref_tst ( ,
slp_tsk [S]

tslp_tsk [S]

wup_tsk [S]

iwup_tsk [S] (
can_wup [S]

ican_wup (
rel_wai [S]

irel_wai [S] (
sus_tsk [S]

isus_tsk

rsm_tsk [S]

irsm_tsk

frsm_tsk [S]

ifrsm_tsk

dly_tsk [S]

def_tex

ras_tex [S]

iras_tex [S] (
dis_tex [S]

ena_tex [S]

sns_tex [S]

ref_tex

iref_tex (
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3.1

cre_sem

acre_sem ID
del_sem

sig_sem [S]

isig_sem [S] (
wai_sem [S]

twai_sem [S] (

pol_sem [S] (
ipol_sem (

ref_sem

iref_sem (
cre_flg

acre_flg ( ID
del_flg

set_flg [S]

iset_flg [S] (
clr_flg [S]

iclr_flg (
wai_flg [S]

twai_flg [S] (

pol_flg [S] )
ipol_flg ,
ref_flg

iref_flg (
cre_dtq

acre_dtq ( ID
del_dtqg

snd_dtq [S]

psnd_dtq [S] (
ipsnd_dtq [S] (
tsnd_dtq [S] (
fsnd_dtq [S]

ifsnd_dtq [S]

rcv_dtq [S]

prcv_dtg [S]

iprcv_dtqg

trcv_dtq [S]

ref_dtg

iref_dtq (
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3.1

cre_mbx
acre_mbx
del_mbx
snd_mbx
isnd_mbx
rcv_ mbx
trcv_ mbx
prcv_ mbx
iprcv_mbx
ref_mbx
iref_mbx

[S]

(s]
(S]
[S]

cre_mbf
acre_mbf
del_mbf
snd_mbf
tsnd_mbf
psnd_mbf
rcv_mbf
trcv_mbf
prcv_mbf
ref_mbf
ref_mbf

cre_por
acre_por
del_por
cal_por
tcal_por
acp_por
tacp_por
pacp_por
fwd_por
rpl_rdv
ref_rdv
iref_drv
ref_por
iref_por
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3.1

cre_mpf
acre_mpf
del_mpf
get_mpf
tget_mpf
pget_mpf
iget_mpf
rel_mpf
irel_mpf
ref_mpf
ief_mpf

[S]
[S]
[S]

[s]

cre_mpl
acre_mpl
del_mpl
get_mpl
tget_mpl
pget_npl
rel_mpl
ref_mpl
iref_mpl

set_tim
iset_tim
get_tim
iget_tim
isig_tim

[S]
[s]
[S]

cre_cyc
acre_cyc
sta_cyc
ista_cyc
stp_cyc
stp_cyc
ref_cyc
iref_cyc

[s]
[s]
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3.1

cre_alm

acre_alm (
sta_alm

ista_ alm

stp_alm

stp_alm

ref_alm

iref_alm

rot_rdq [S]

irot_rdq [S] (
get_tid [S] ID

iget_tid [S] ID (
loc_cpu [S] | CPU

iloc_cpu [S] | CPU (
unl_cpu [S] CPU

iunl_cpu [S] | CPU (
dis_dsp [S]

ena_dsp [S]

sns_ctx [S]

sns_loc [S] | CPU

sns_dsp [S]

sns_dpn [S]

def_int

idef_int (
ref_ver

iref_ver (
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3.1

vrst_dtq

vrst_mbx
vrst_mbf
vrst_mpf
vrst_mpl
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3.2

3.2.

E_OK 0
E_ILUSE -28
E_0BJ -41
E_QOVR -43
E_TMOUT -50
E_RLWAI -49
E_NOEXS -42
E DLT -51
E_NOMEM -33
E_NOID -34 D
EV_RST -127
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3.3

3.3.
] ITRON
PSW SM IE C BSM BIC BC
TRAP
RO R1 R2 RO R2
acre_tsk #7 H>00 pk_ctsk | tskid
cre_tsk #7 H~>04 tskid pk_ctsk | ercd
del_tsk #7 H~08 tskid ercd
act_tsk #7 H”0C tskid ercd
jact_tsk #7 H>0C tskid ercd
can_act #7 H>10 tskid actent
ican_act #7 H?10 tskid actent
sta_tsk #7 H>14 tskid stacd ercd
ista_tsk #7 H>14 tskid stacd ercd
ext_tsk #7 H?18
exd_tsk #7 H>1c
ter_tsk #7 H>20 tskid ercd
chg_pri #7 H>24 tskid tskpri ercd
ichg_pri #7 H>24 tskid tskpri ercd
get_pri #7 H~28 tskid ercd tskpri
iget _pri #7 H~28 tskid ercd tskpri
ref_tsk #7 H*2c tskid pk_rtsk | ercd
iref_tsk #7 H>2c tskid pk_rtsk | ercd
ref_tst #7 H”30 tskid pk_rtst | ercd
iref_tst #7 H>30 tskid pk_rtst | ercd
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TRAP

RO R1 R2 R3 R4 RO R2
slp_tsk #7 H”34 -1 ercd
tslp_tsk #7 H*34 tmout ercd
wup_tsk #7 H~38 tskid ercd
iwup_tsk #7 H~38 tskid ercd
can_wup #7 H*3c tskid wupent
ican_wup #7 H”3c tskid wupcnt
rel_wai #7 H”40 tskid ercd
irel_wai #7 H”40 tskid ercd
sus_tsk #7 H>44 tskid ercd
isus_tsk #7 H~44 tskid ercd
rsm_tsk #7 H~48 tskid ercd
irsm_tsk #7 H~>48 tskid ercd
frsm_tsk #7 H”4c tskid ercd
ifrsm_tsk #7 H”4c tskid ercd
dly_tsk #7 H”50 dlytim ercd

TRAP

RO R1 R2 R3 R4 RO R2
def_tex #7 H>54 tskid pk_dtex ercd
ras_tex #7 H”58 tskid rasptn ercd
iras_tex #7 H”58 tskid rasptn ercd
dis_tex #7 H”>5¢ ercd
ena_tex #7 H”60 ercd
sns_tex #7 H~ 64 state
ref_tex #7 H”>68 tskid pk_rtex ercd
iref_tex #7 H” 68 tskid pk_rtex ercd
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TRAP
RO R1 R2 R3 R4 RO R2 R3

acre_senm #7 H”6¢C pk_csem semid
cre_sem #7 H*70 semid pk_csem ercd
del_sem #7 H*74 semid ercd
sig_sem #7 H*78 semid ercd
isig_senm #7 H*78 semid ercd
wai_sem #7 H>7c semid -1 ercd
twai_sem #7 H*7c semid tmout ercd
pol_sem #7 H*7c semid 0 ercd
ipol_sem #7 H*7c semid 0 ercd
ref_sem #7 H~80 semid pk_rsem ercd
iref_sem #7 H~80 semid pk_rsem ercd

(

TRAP

RO R1 R2 R3 R4 RO R2 R3

acre_flg #7 H”84 pk_cflg flgid
cre_flg #7 H~88 flgid pk_cflg ercd
del_fig #7 H”*8c flgid ercd
set_flg #7 H?90 flgid setptn ercd
iset_flg #7 H”90 flgid setptn ercd
clr_fig #7 H>94 flgid clrptn ercd
iclr_flg #7 H?94 flgid clrptn ercd
wai_flg #7 H~98 flgid waiptn wfmode -1 ercd flgptn
twai_flg #7 H~98 flgid waiptn wfmode tmout ercd flgptn
pol_flg #7 H~98 flgid waiptn wfmode 0 ercd flgptn
ipol_flg #7 H~98 flgid waiptn wfmode 0 ercd flgptn
ref_flg #7 H”9c flgid pk_rflg ercd
iref_flg #7 H~”9c flgid pk_rflg ercd
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3.3

( )
TRAP
RO R1 R2 R3 R4 RO R2 R3

acre_dtq #7 H”a0 pk_cdtq dtqid
cre_dtq #7 H> a4 dtqid pk_cdtq ercd
del_dtq #7 H~a8 dtqid ercd
snd_dtq #7 H”ac dtqid data -1 ercd
tsnd_dtq #7 H>ac dtqid data tmout ercd
psnd_dtq #7 H”ac dtgid data 0 ercd
ipsnd_dtq #7 H”ac dtqid data 0 ercd
fsnd_dtq #7 H” b0 dtqid data ercd
ifsnd_dtq #7 H”bO dtgid data ercd
rcv_dtq #7 H”b4 dtqid -1 ercd data
trev_dtq #7 H”b4 dtqid tmout ercd data
prcv_dtq #7 H” b4 dtgid 0 ercd data
iprev_dtq #7 H”b4 dtqid 0 ercd data
ref_dtq #7 H”b8 dtqid pk_rdtq ercd
iref_dtq #7 H”b8 dtqid pk_rdtq ercd

( )

TRAP

RO R1 R2 R3 R4 RO R2 R3
acre_mbx #7 H”bc pk_cmbx mbxid
cre_mbx #7 H”cO mbxid pk_cmbx ercd
del_mbx #7 H>c4 mbxid ercd
snd_mbx #7 H”c8 mbxid pk_msg ercd
isnd_mbx #7 H”>c8 mbxid pk_msg ercd
rcv_mbx #7 H”>cc mbxid -1 ercd pk_msg
trev_mbx #7 H”cc mbxid tmout ercd pk_msg
prcv_mbx #7 H”cc mbxid 0 ercd pk_msg
iprcv_mbx #7 H”>cc mbxid 0 ercd pk_msg
ref_mbx #7 H>d0 mbxid pk_rmbx ercd
iref_mbx #7 H~do mbxid pk_rmbx ercd
( )
TRAP
RO R1 R2 R3 R4 RO

acre_mbf #7 H>d4 pk_cmbf mbfid
cre_mbf #7 H>d8 mbfid | pk_cmbf ercd
del_mbf #7 H”dc mbfid ercd
snd_mbf #7 H”e0 mbfid | msg msgsz -1 ercd
tsnd_mbf #7 H?e0 mbfid | msg msgsz tmout | ercd
psnd_mbf #7 H>e0 mbfid | msg msgsz 0 ercd
rcv_mbf #7 H>ed mbfid | msg -1 msgsz
trev_mbf #7 H”e4 mbfid | msg tmout | msgsz
prcv_mbf #7 H>ed mbfid | msg 0 msgsz
ref_mbf #7 H”e8 mbfid | pk_rmbf ercd
iref_mbf #7 H~e8 mbfid | pk_rmbf ercd
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3.3

( )
TRAP
RO R1 R2 R3 R4 R5 RO R2 R3
acre_por #7 H”ec pk_cpor porid
cre_por #7 H”f0 porid pk_cpor ercd
del_por #7 H”>f4 porid ercd
cal_por #7 H”f8 porid msg cmsgsz | -1 calptn | rmsgsz
tcal_por #7 H”*f8 porid msg cmsgsz | tmout | calptn | rmsgsz
acp_por #7 H” fc porid msg -1 acpptn | cmsgsz rdvno
tacp_por #7 H”fc porid msg tmout | acpptn | cmsgsz rdvno
pacp_por #7 H” fc porid msg 0 acpptn | cmsgsz rdvno
fwd_por #7 H~100 porid rdvno cmsgsz | msg calptn | ercd
rpl_rdv #7 H?104 rdvno msg rmsgsz ercd
ref_por #7 H~108 porid pk_rpor ercd
iref_por #7 H~108 porid pk_rpor ercd
ref_rdv #7 H~10c porid pk_rrdv ercd
iref_rdv #7 H~10c porid pk_rrdv ercd
)
TRAP
RO R1 R2 R3 R4 RO R2
acre_mpf #7 H?110 pk_cmpf mpfid
cre_mpf #7 H?114 mpfid pk_cmpf ercd
del_mpf #7 H?118 mpfid ercd
get_mpf #7 H*1lc mpfid -1 ercd bk
tget_mpf #7 H?11lc mpfid tmout ercd blk
pget_mpf #7 H?1lc mpfid 0 ercd blk
ipget_mpf #7 H*1lc mpfid 0 ercd bk
rel_mpf #7 H~120 mpfid mpF ercd
irel_mpf #7 H?120 mpfid mpf ercd
ref_mpf #7 H?124 mpfid pk_rmpf ercd
iref_mpf #7 H~?124 mpfid pk_rmpf ercd
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3.3

TRAP
RO R1 R2 R3 R4 RO R2
acre_mpl #7 H?128 pk_cmpl mplid
cre_mpl #7 H*12c mplid pk_cmpl ercd
del_mpl #7 H~?130 mplid ercd
get_mpl #7 H?134 mplid blksz -1 ercd blk
tget_mpl #7 H?134 mplid blksz tmout ercd blk
pget_mpl #7 H?134 mplid blksz 0 ercd blk
rel_mpl #7 H?138 mplid blk ercd
ref_mpl #7 H*13c mplid pk_rmpl ercd
iref_mpl #7 H?13c mplid pk_rmpl ercd
TRAP
RO R1 R2 RO
set_tim #7 H~140 pk_tim ercd
iset_tim #7 H>140 pk_tim ercd
get_tim #7 H~ 144 pk_tim ercd
iget_tim #7 H~144 pk_tim ercd
TRAP
RO R1 R2 R3 R4 RO R2
acre_cyc #7 H~148 pk_ccyc cycid
cre_cyc #7 H~14c cycid pk_ccyc ercd
del_cyc #7 H~150 cycid ercd
sta_cyc #7 H~?154 cycid ercd
ista_cyc #7 H~>154 cycid ercd
stp_cyc #7 H~158 cycid ercd
istp_cyc #7 H~158 cycid ercd
ref_cyc #7 H”15c cycid pk_rcyc ercd
iref_cyc #7 H~15¢c cycid pk_rcyc ercd
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3.3

TRAP
RO R1 R2 R5 RO
acre_alm #7 H~160 pk_calm almid
cre_alm #7 H”164 almid | pk_calm ercd
del_alm #7 H~168 almid ercd
sta_alm #7 H”16¢c almid almtim ercd
ista_alm #7 H”16¢ almid almtim ercd
stp_alm #7 H~?170 almid ercd
istp_alm #7 H?170 almid ercd
ref_alm #7 H?174 almid | pk_ralm ercd
iref_alm #7 H>174 almid pk_ralm ercd
TRAP
RO R1 R2 RO R2
rot_rdq #7 H*178 tskpri ercd
irot_rdg #7 H?178 tskpri ercd
get_tid #7 H*17c p_tskid | ercd
iget_tid #7 H*17c p_tskid | ercd
loc_cpu #7 H~180 ercd
iloc_cpu #7 H~180 ercd
unl_cpu #7 H~184 ercd
iunl_cpu #7 H~>184 ercd
dis_dsp #7 H~188 ercd
ena_dsp #7 H”18c ercd
sns_ctx #7 H?190 state
sns_loc #7 H*194 state
sns_dsp #7 H~198 state
sns_dpn #7 H”19¢c state
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3.3

TRAP
RO R1 R2 RO R2
def_inh #7 H>1a0 inhno pk_dinh | ercd
idef_inh #7 H>1a0 inhno pk_dinh | ercd
TRAP
RO R1 R2 RO R2
ref_ver #7 H>1la4 pk_rver | ercd
iref_ver #7 H”1la4 pk_rver | ercd
TRAP
RO R1 R2 RO
vrst_dtq #7 H”1a8 dtgid ercd
vrst_mbx #7 H”lac mbxid ercd
vrst_mbf #7 H”1b0 mbfid ercd
vrst_mpf #7 H”1b4 mpfid ercd
vrst_mpl #7 H”1b8 mplid ercd
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3.4

3.4.
typedef  signed char B; /* 8 */
typedef  signed short H; /* 16 */
typedef  signed long W; /* 32 */
typedef  unsigned char UB; /* 8 */
typedef  unsigned short  UH; /* 16 */
typedef  unsigned long uw; /* 32 */
typedef  char VB /*

€ )
typedef  short VH; /*

(16 ) */
typedef long VW; /*

(32 ) */
typedef  void *VP; /* */
typedef  void CFPYO; 7~ */
typedef W INT /* 32 */
typedef  UW UINT; /* 32 */
typedef W FN /* */
typedef H ID; /* ID */
typedef H PRI; /* */
typedef W T™MO; /* */
typedef W ER; /* ( ) */
typedef  UW ATR; /* ( ) */
typedef  UW STAT; /* */
typedef  UW MODE; /* */
typedef  UW SIZE; /* */
typedef  UW RELTIM /* */
typedef W VP_INT; /*

*/
typedef  struct systim{ /* */
UH utime; /* 16bit */
uw Itimer; /* 32bit */

} SYSTIM;
typedef W ER_ID; /* ID */
typedef W ER_UINT; /* */
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3.5

3.5.
TRUE 1 /* */
FALSE 0 /* */
typedef struct t_ctsk {
ATR tskatr; /* */
VP_INT  exinf; /* */
FP task; /* */
PRI itskpri; /* */
SIZE stksz; /* */
VP stk; /*
} T _CTSK;
TSK_SELF 0 /* */
TPRI_RUN 0 /* */
typedef struct t_rtsk {
STAT tskstat; /* */
PRI tskpri; /* */
PRI tskbpri; /* */
STAT tskwait; /* */
1D wid; /* ID */
T™MO tskatr; /* */
UINT actent; /* */
UINT wupent;  /* */
UINT suscnt;  /* */
} T_RTSK;
typedef struct t_rtst {
STAT tskstat; /* */
STAT tskwait; /* */
} T_RTST;
typedef struct t_dtex {
ATR texatr; /*
FP texrtn; /*
} T_DTEX;
typedef struct t_rtex {
STAT texstat; /* */
TEXPTN  pndptn; /* */
} T_RTEX;
typedef struct t_csem {
ATR sematr; /* */
UINT isement; /* */
UINT maxsem; /* */
} T _CSEM;
typedef struct t_rsem {
ID wtskid; /* 1D */
INT sement; /* */
1T SEM;

*/

*/

*/
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3.5

typedef struct t_cflg {

ATR flgatr; /*
FLGPTN  iflgptn; /*
} T _CFLG;
wfmod:
TWF_ANDW  H~0000 /* AND
TWF_ORW H>0002 /* OR
typedef struct t_rflg {
1D wtskid; /*
UINT flgptn; /*
} T _RFLG;
typedef struct t_cdtq {
ATR dtgatr;
UINT  dtqcnt;
VP dtq;
} T_CDTQ;
typedef struct t_rdtq {
ID stskid;
ID rtskid;
UINT  sdtqcent;
} T_RDTQ;
typedef struct t_cmbx {
ATR mbxatr;
PRI maxpri;
VP mprihd;
} T_CMBX;
typedef struct t_mbx {
ID wtskid;
T_MSG *pk_msg;
} T_RMBX;
typedef struct t_cmbf {
ATR mbfatr;
UINT maxmsz;
SIZE bufsz;
VP mbf;
} T_CMBF,;
typedef struct t_rmbf {
ID stskid; /*
ID rtskid; /*
UINT smsgent; /*
SIZE frbufsz; /*
} T_RMBF,;
typedef struct t_cpor {
ATR poratr;
UINT maxcmsz;
UINT maxrmsz;
} T_CPOR;

/*
/*
/*

/*
/*

/*
/*
/*

/*
/*

/*
/*
/*
/*

/*
/*
/*

*/

*/

*/

*/

*/

*/
*/
*/
( )/
*/
) */
) */
*/
*/
*/
*/
(DI
*/
*/
*/
*/
*/
(DI
D
*/
*/
*/
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3.5

typedef struct t_rpor {
ID ctskid; /*
ID atskid; /*
} T_RPOR,;
typedef struct t_cmpf {
ATR mpfatr; /*
UINT mpfent;  /*
UINT blfsz; /*

VP mpf; /*
} T_CMPF;
typedef struct t_rmpf {
ID wtskid; /*
UINT frbent; /*
} T_RMPF;
typedef struct t_cmpl {
ATR mplatr; /*
SIZE mplsz; /*
VP mpl; /*
SIZE maxblksz /*
} T_CMPL;
typedef struct t_rmpl {
ID wtskid; /*

SIZE fmplsz; /*
UINT fblksz; /*
} T_RMPL;
typedef struct t_ccyc {
ATR cycatr; /*
VP_INT exinf, /*
FP cychdr; /*
RELTIM cyctim; /*
RELTIM cycphs; /*

} T_CCYC;
typedef struct t_rcyc {
STAT  cycstat; /*

RELTIM lefttim; /*
} T _RCYC;
typedef struct t_calm {
ATR almatr; /*
VP_INT exinf; /*

FP almhdr; 7*
} T _CALM;
typedef struct t_ralm {

STAT  almstat; /*

RELTIM lefttim; /*
} T _RALM;

*/

*/
*/

*/

*/
*/

*/

*/

*/

*/

*/

*/

*/

*/

1D
1D

*/

*/

*/

*/
*/

*/

*/

*/

*/

*/

*/

*/

*/
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3.5

typedef struct t_dinh {

ATR inhatr; /*
FP inthdr; /*
} T _DINTH;
I* */
typedef struct t_rver {
UH maker; /*
UH prid; /*
UH spver; /*
UH prver; /*
UH prno[4]; /*
}T_RVER;

*/
*/

*/
*/
*/
*/
*/
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